JAMMU AND KASHMIR PUBLIC SERVICE COMMISSION

RESHAM GHAR COLONY, BAKSHI NAGAR, JAMMU - 180016
(0D Website: http:ijkpsc.nic.in Jammu: 0191.2566533
e g email: coejkpsc20178gmail.com

Subject: Written Examination for the posts of Lecturer(s) [Environmental
Science, Hindi, Geography, Psychology and Kashmiri] in the School
Education Department - Provisional Answer Key(s) thereof.

Notification No. PSC/Exam/S/2025/33
Dated: 27.09.2025

In pursuance of Rule 10(c) of the Jammu & Kashmir Public Service Commission
(Conduct of Examination) Rules, 2022, as amended upto date, the Provisional Answer
Keys of Question Papers pertaining to the written examinations for the posts of
Lecturer(s) [Environmental Science, Hindi, Geography, Psychology and
Kashmiri] in School Education Department, held on 27.09.2025, are hereby
notified for seeking the objections from candidates.

Provisional Answer Key
(Environmental Science)

Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 C Q12 D Q23 B
Q2 C Q13 Cc Q24 B
Q3 B Q14 A Q25 A
Q4 D Q15 D Q26 D
Q5 B Q16 B Q27 B
Q6 A Q17 C Q28 D
Q7 D Q18 A Q29 C
@ Q8 B Q19 C Q30 D
Q9 C Q20 D Q31 B
Q10 B Q21 D Q32 B

Q11 C | Q22 D Q33 A el
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Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q34 B Q57 B Q80 D
Q35 B Q58 A Q81 B
Q36 A Q59 B Q82 C
Q37 C Q60 C Q83 A
Q38 (0 Q61 A Qs4 D
Q39 D Q62 D Q85 B
Q40 C Q63 C Q86 C
Q41 D Q64 A Q87 D
Q42 B Q65 B Q88 (o
Q43 A ¥l Q66 B Q89 A
Q44 C Q67 D Q90 B
Q45 D Q68 C Q91 o
Q46 C Q69 B Q92 C
Q47 C Q70 A Q93 B
Q48 D Q71 B Q94 B
Q49 B Q72 D Q95 D
Q50 C Q73 B Q96 A
Q51 B Q74 A Q97 D
Q52 D Q75 B Q98 C
Q53 A Q76 A Q99 D
Q54 D Q77 C Q100 C
Q55 B Q78 A

Q56 B Q79 A
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Provisional Answer Key

(Hindi)
Test Booklet Question No, Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 A Q35 C Q69 A
Q2 C Q36 A Q70 B
Q3 A Q37 B Q71 C
Q4 A Q38 A Q72 B
Q5 B Q39 C Q73 B
Q6 A Q40 B Q74 C
Q7 A Q41 C Q75 A
Q8 B Q42 B Q76 B
Q9 D Q43 B Q77 C
Q10 A Q44 C Q78 D
Q11 B Q45 A Q79 B
Q12 D Q46 B Q80 B
Q13 A Q47 B Q81 A
Q14 C Q48 C Q82 B
Q15 D Q49 A Q83 C
Q16 B Q50 B Q84 D
Q17 C Q51 C Q85 B
Q18 B Q52 A Q86 C
Q19 G Q53 B Q87 A
Q20 C Q54 A Q88 B
Q21 A Q55 B Q89 A
Q22 C Q56 A Q90 D
Q23 B Q57 B Q91 D
Q24 B Q58 D Q92 D
Q25 A Q59 B Q93 B
Q26 D Q60 C Q94 C
Q27 B Q61 D Q95 D
Q28 B Q62 B Q96 B
Q29 A Q63 C Q97 A
Q30 A Q64 C Q98 B
Q31 B Q65 B Q99 D
Q32 C Q66 D Q100 B
Q33 D Q67 B
Q34 C | Q68 D
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Provisional Answer Key

(Geography)
Test Booklet Question No.—‘ Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 B Q35 A Q69 C
Q2 D Q36 A Q70 A
Q3 C Q37 A Q71 D
Q4 B Q38 B Q72 Cc
Q5 C Q39 B Q73 D
Q6 A Q40 C Q74 B
Q7 D Q41 A Q75 D
Q8 D Q42 B Q76 A
Q9 B Q43 B Q77 B
Q10 A Q44 B Q78 B
Q11 C Q45 A Q79 B
Q12 A Q46 A Q80 C
Q13 B Q47 B Q81 B
Q14 B Q48 A Q82 C
Q15 A Q49 B Q83 B
Q16 C Q50 C 4 Q84 C
Q17 C Q51 D Q85 B
Q18 B Q52 A Q86 B
Q19 B Q53 C Q87 B
Q20 D Q54 D Q88 C
Q21 B Q55 B Q89 A
Q22 B Q56 C Q90 A
Q23 B Q57 B Q91 D
Q24 A Q58 D Q92 C
Q25 B Q59 D Q93 D
Q26 C Q60 A Q94 o
Q27 B Q61 D Q95 D
Q28 D Q62 C Q96 B
Q29 C Q63 C Q97 A
Q30 A Q64 A Q98 C
Q31 A Q65 B .| Q99 D
Q32 B Q66 A Q100 D
Q33 B Q67 C
Q34 C Q68 A
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Provisional Answer Key

(Psychology)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 D Q35 | ¢ Q69 A
Q2 C Q36 D Q70 B
Q3 B Q37 c Q71 B
Q4 D Q38 D Q72 C
Q5 c Q39 B Q73 B |
Q6 B Q40 A Q74 B
Q7 B Q41 A Q75 D
Q8 B Q42 C Q76 A
Q9 C Q43 D Q77 B
Q10 C = Q44 c Q78 B
Q11 B Q45 D Q79 C
Q12 C Q46 D Q80 A
Q13 B Q47 B Q81 A
Q14 B Q48 A Q82 A
Q15 B Q49 D Q83 A
Q16 B Q50 A Q84 C
Q17 B Q51 C Q85 D
Q18 B Q52 C Q86 B
Q19 A Q53 A Q87 C
Q20 B Q54 C Q88 C
Q21 B Q55 B Q89 A
Q22 C Q56 A Q90 D
Q23 A Q57 A Qo1 C
Q24 A Q58 B Q92 o
Q25 D Q59 B Q93 B
Q26 C Q60 B Q94 A
Q27 B Q61 A Q95 C
Q28 . Q62 D Q96 B
Q29 A | Q63 C Q97 D
Q30 C Q64 A Q98 A
Q31 D Q65 D Q99 C
Q32 A Q66 A Q100 B
Q33 B Q67 B

Q34 D Q68 D
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Provisional Answer Key

(Kashmiri)
Test Booklet Question No. 1 Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 B Q35 A Q69 A
Q2 C Q36 C Q70 D
Q3 D Q37 B Q71 D
Q4 B Q38 C Q72 c
Q5 A Q39 D Q73 B
Q6 C Q40 B Q74 A
Q7 D Q41 A Q75 C
Q8 C Q42 A Q76 B
Q9 A Q43 (o Q77 D
Q10 A Q44 D Q78 C
Q11 B Q45 C Q79 B
Q12 D Q46 B Q80 Cc
Q13 A Q47 A Q81 A
Q14 C Q48 B Q82 D
Q15 C Q49 C Q83 B
Q16 B Q50 A Q84 S
Q17 D Q51 B Q85 A
Q18 B Q52 B Q86 A
Q19 A Q53 A Q87 C
Q20 D Q54 C Q88 A
Q21 C Q55 D Q89 ¢
Q22 B Q56 B Q90 B
Q23 A Q57 A Q91 A
Q24 C Q58 D Q92 D
Q25 D Q59 C Q93 A
Q26 B Q60 B Q94 B
Q27 C Q61 A Q95 Cc
Q28 B Q62 C Q96 A
Q29 A Q63 B Q97 B
Q30 D Q64 A Q98 A
Q31 C Q65 C Q99 B
Q32 B Q66 C Q100 C
Q33 D Q67 B

Q34 A Q68 A
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The candidates are advised to refer to Question Booklet (Series A) to match
the corresponding question(s) in their respective Question Booklet Series and if any
candidate feels that the key to any of the question(s) is/are wrong, he/she may represent
on prescribed format/proforma annexed as Annexure-A along with the documentary
proof/evidence (hard copies only) and fee of Rs.500/- per question in the form of
Demand Draft drawn in favour of COE, J&K PSC (refundable in case of genuine/correct
representation) to the Controller of Examinations, Jammu & Kashmir Public Service
Commission, from Monday i.e. 29.09.2025 to 03.10.2025. The candidates are further
advised to clearly mention the question(s) objected to with reference to its
serial number as it appears in the Question Booklet of Series A of the
provisional answer key(s).

Any objection/application not accompanied by the requisite Demand Draft of
Rs.500/- as prescribed, shall not be considered/entertained under any circumstances.
Candidates are, in their own interest, advised to adhere to these instructions and not
submit any objection unaccompanied by the Demand Draft as required under extant
rules. The Commission shall not entertain any such representation(s) after the expiry of
the stipulated period i.e. after 03.10.2025 (Friday), 05.00 pm.

Further, objection(s) submitted in any other mode will not be entertained.

The provisional answer key(s) are also available on the website of the Commission

http://www.jkpsc.nic.in.
(Sachin gmwal) JKAS

Controller of Examinations

Cﬁi‘lﬂ‘(‘Public Service Commission

No. PSC/Ex-Secy/2025/19 Dated: 27.09.2025
Copy to the: -

1. Director, Information and Public Relations, J&K for publication of the notice in all
leading newspapers published from Jammu/Srinagar.

2. P.S. to Hon'ble Chairman, J&K Public Service Commission for information of the
Hon’ble Chairman.

3. P.S. to Hon'ble Member, Shri for information of the

Hon’ble Member.

P. A. to Secretary, J&K Public Service Commission for information of the Secretary.

. Main file/Stock file/Notice Board.

S

Page 7 of 8



Annexure-A

Representation regarding objection(s) to any Question/Answer pertaining to
the Written Examination conducted for the posts of Lecturer(s)
[Environmental Science, Hindi, Geography, Psychology and Kashmiri) in
School Education Department held on 27.09.2025

(NOTE: USE SEPARATE FORMS FOR SEPARATE QUESTIONS)

Discipline:

Name of the Applicant:
Roll No. :

Correspondence Address :
Contact/Mobile No. :
Date of Application: 2025

Demand Draft Details: No. Date Amount
Candidates Account No.(16 digit) & IFSC Code :

Question Details of the Objection Resource Material | Details of the
No. in (copy to be Website
Series A enclosed) (if any)

Correct Answer/Option as per candidate :

Signature of the Candidate

Note : Application for each question/answer shall be made on separate page in the
given format, otherwise the first question entered in the format shall only be
considered.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S5O

Booklet Serial No. 3 0 8 4 6 5

Test Booklet Series

TEST BOOKLET
LECTURER - (10+2) A
ENVIRONMENTAL SCIENCE
WRITTEN TEST - 2025
(59)

Time Allowed: Two Hours Maximum Marks: 100

11.

(59) (A)/2025

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepancy
will render the Response Sheet liable for rejection.

You have to enter your Roll Number on the ‘

Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.
This Test booklet contains 100 items (questions). Each item comprises of four responses (answers).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In case
you feel that there is more than one correct response, mark the response which you consider the
best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer /Response Sheet provided. See
directions in the Response Sheet.
All items carry equal marks.
Before you proceed to mark in the Answer /Response Sheet, the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instructions
sent to you with your Admission Certificate.
After you have completed filling in all your responses on the Response Sheet and the examination)
has concluded, you should hand over to the Invigilator only the Answer /Response Sheet. You are
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response Sheet .
Sheets for rough work are appended in the Test Booklet at the end.
While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Sheet in
appropriate boxes use “ONLY BALL POINT PEN”.
Penalty for wrong answers:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS).
(i)  There are four alternatives for the answer to every question. For each question for which 4
wrong answer has been given by the candidate, (0.25) of the marks assigned to that questior
will be deducted as penalty.
(i)  Ifacandidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above for that question.
(iii) Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty fos
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DQ SO
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1.  Which of the following is not a primary precursor of photochemical smog?

A) NO,
B) Sunlight
€ O,

D) Volatile Organic Compounds (VOCs)

2. Which of the following depicts the area under the visible portion of the extraterrestial

solar spectrum curve?

A 30-37%
"B) 20-27%
O) 40-47%
D) 50-57%

3 Cohsider the following Statements: '

Assertion (A): Biosphere comprises all the llvmg orgamsms on Earth and the physjcal
environment to which these life forms interact.

Reason (R): The biosphere relies heavily on the hydrospheric component, as watdr is
essentlal for all biological processes on Earth. '

- Choose the Correct Option:
A) Both (A)and (R) are true, and (R) is the correct explanation of (A)
B) Both(A)and (R) are true, and (R) is not the correct explanatnon of (A)
C) (A)istrue, but (R)is false
D) (R)istrue, but (A) is false

4.  Which of the following is incorrect?
A) Continental crust is composed of granitic rocks
B) Earth's core is predominantly composed of Iron and Nickel
C) Oceanic crust is composed of basaltic rocks
D) Silicon is the most abundant element in Earth's crust

5. Which of the following is correctly matched?
A) - Macro landform - Mountains
B) Endogenic forces - Seismic activity
C) Meso landforms - Oceanic basins

D) Exogenic forces - Volcanic eruption

e | ) [P:T.0.




6. Consider the following discontinuities in Earth's interior:
L Gutenberg Discontinuity
II. Conrad discontinuity
[lI. Lehman discontinuity
IV. Mobhorovicic discontinuity

In which of the following options are they arranged in the correct order, ascending
from the core to the crust? '

A A P e L

By SIL L, 1L SV
C)sL: I, IV I .
D)y S oL HE- |

7. - Normal lapse rate or environmental lapse rate in the troposphere is -
A) Increase in temperature by 9.8°C with an increase in height by one kilometer
B) Decrease in temperature by 9.8°C with an increase in height by one kilometer
C) Increase in temperature by 6.5°C with an increase in height by one kilometer
D) Decrease in temperature by 6.5°C with an increase in height by one kilometer

8.  Which of the following is incorrect regarding a solar pond?
A) Butyl rubber can be used as a liner at the bottom
B) The storage zone at the bottom has the lowest salinity
C) Magnesium chloride can be used to create a salt gradient

D) The non-convective zone acts as an insulator

9. Choose the correct option for the following matching problem in terms of different
layers of the atmosphere and their composition/location/distinct feature:

Column - (1) Column - (2)
P) Homosphere I)  Uppermost layer of the atmosphere '
Q) lonosphere II) Extends from 80km to 640 km
R) Stratosphere Ill) The main constituent gases are X
oxygen and nitrogen
S) Exosphere IV) More or less devoid of major weather
phenomena

Choose the correct option:

A)  (P)-(ID), (Q)-(II), (R)-(IV),(S)-(D)
B)  (P)-(IV), (Q)-(1D), (R)-(ID), (S)~(T)
C)  (@®)-1), (Q)-(ID), (R)-(IV), (S)-(II)
D) (®)-(D), (Q)-(), (R)-(II), (S)-(IV)

(59) (A) 4)




10.

11.

12.

13.

(59) (A) 5) [P.T]

Which of the following methods of environmental valuation is not associated with the

revealed preference method?
A) Travel cost method

B) Contingent valuation

C) Hedonic pricing

D) Market valuation

In case of spontaneous changes in an isolated system, the change in entropy (AS) i

A) Zero
B) Negative
C) Positive

D) Indeterminate

o

Which of the following types of inversion is characterized by sinking and compressipn

of large air masses in higher altitudes, occurrence at high-pressure systems or behi
cold fronts, and long residence in the upper troposphere?
A) Radiation Inversion

B) Frontal Inversion

C) Valley Inversion

D) Subsidence Inversion

Which of the following is the correct option for the following matching problem mlajed

to the characteristics of different methodologies of Environmental Imp
Assessment (EIA):

Column - (1) Column - (2)

P) Adhoc Method I) Highly structured and involves
weighing and scaling

Q) Checklist Method II) A generalized two-dimensional

structure to measure interactions
project activity and impacts
R) Battelle Environmental

Evaluation System IIl) Intuitive approach for qualitative
assessment for limited informati
S) Matrix Method IV) Uses a feedback loop system and

suitable for assessing the impact
of water resource development
projects. -

Choose the correct option:

A)  (P-D, (Q-AV), ®)-(I), (S)-@)

B) (P)-(IV), (Q-(I), (R)-(IN), (S)-()

C) Py, (-0, ®-AV), (S

D) (P)»-(D), (Q)-(I), R)-(IV), (S)-()

hd

ct

of

-

S
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14.  Which of the following represents the actual amount of water vapor present in a given
volume of air (in g/m?), regardless of its temperature-

A)  Absolute Humidity
B) Humidity Capacity
C) Relative Humidity
D) Specific Humidity

15. When was the Intergovernmental Conference on Environmental Education
(UNESCO) that delivered the Thilisi Declaration held?

A) 1987
B) 1978
C) 1988
D) 1977

16. Choose the correct option for the following matching problem related to the
absorbance or reflectance of environmental components as per the spectral reflectance

curve used to identify unique spectral signatures in Remote Sensing:
Column - (1) Column - (2)

P) Strong absorbance by vegetation I)  Blue orshorter wavelengths
Q) Strong Reflectance by Vegetation I) NIR radiation

R) Strong absorbance by water Ill) Green wavelength

S)  Strongreflectance by water IV) Red and Blue wavelengths
Choose the correct option:

A) (P)-ID, (Q-@), ®)-AV), (S)-1D

B) (P)-(IV), (Q-(I), (R)-(ID, (S)~(I)

C) (-, (Q-a1, ®)-IV), (S)-I)

D) (®)»(1D), (Q-(I), ®)-ID), (S)-AV)

17.  Which of the following is not estimated using land cover mapping in the application
of GIS and Remote Sensing techniques?

A) Net Primary Productivity (NPP)

B) Total Biomass Accumulation (TBA)
C) Sea Surface Temperature (SST)

D) Leaf AreaIndex (LAI)

(39) (A) (6)




18. Which of the following is the value of the mode when the Arithmetic Mean is 26.8 anjd

the Median is 27.9 for a moderately skewed distribution?

A)
B)
0

D)

30.1
29.9
311

28.9

19. Which of the following Conventions' Secretariat is hosted by the United Natigns
Environment Programme (UNEP) ?

A)
B)
)

D)

20. Which of the following tests is suitable for the independence of attributes?

A)
B)
)
D)

21. Which of the following is a measure of the useful work that is obtained fro

UN convention to combat desertification (UNCCD)
Ramsar Convention on Wetlands
Convention on Biological Diversity (CBD)

UN Framework Convention on Climate Change (UNFCCC)

Analysis of Variance
Student's t-test
F-test

Chi-square test

constant-pressure system?

A)
B)
®)

D)

(39) (A)

Change in Enthalpy
Change in internal energy
Change in Entropy

Change in Gibbs free energy

@)

mn a

T.0.




22.

23.

24,

25.

Which of the following is correctly matched with the terminologies with their most
appropriate representative statements?

Terminology Statement

P) Complex Ion I)  Areaction atequilibrium will adjust
itself

Q) Diverse Ion Effect I) Equilibrium constant for self-
ionization of water

R) Le Chatelier's Principle Il) Plays no part in the chemical

equilibrium but increases the
solubility of the desired precipitates

S) - Ion Product of Water IV) One or more central ions associated
with one or more ligands that aid in
the shifting of the chemical
equilibrium

Choose the correct option:

A) (P)-D, (Q-@, ®R)}-AV), (S)-(1I)

B) (P)-(I), (Q-1), [®R)-(IV), (S)-(D)

C) (-0, (-, ®R)-ID), (S)-1IV)

D) (P)-0V), (Q-(I), R)-(1), (S)-(ID)

Which of the following conditions of the carbonate system is responsible for the
formation of calcareous water?

A) The solution is exposed to the atmosphere (Open system)

B) There is a source of solid carbonate

C) The solution is not exposed to the atmosphere (Closed system)
D) There is no available source of solid carbonate

Which of the following is incorrect?

A) Solar wind and the Earth's magnetic field strongly influence the ions in the lower
ionosphere and give rise to the Van Allen Belt

B)  Aerosols of natural origin greater than 0.2 m are called Aitken particles

C) O, plays an important role in the troposphere, while O, in the stratosphere

D) Soot particles provide heterogeneous phases for catalyzing the oxidation of SO,

Which of the following is responsible for the continuous cycle of ozone regeneration
and destruction as per the Chapman Reaction?

A) Oxygen

B) Nitrogen oxides
C) Chlorine oxides
D) Hydrogen oxides

(39) (A) ®




26.

27.

28.

29.

30.

Which of the following is correct regarding the water quality parameters and water

pollution?

A) COD values of water samples are usually less than or equal to the BOD values.

B) Acidic water from Thermal pollution increases the temperature of the water, w
causes a rise in DO levels of the water.
C) Acid rain helps to immobilize the aluminum ions in waterbodies

hich

D) The total concentration of Ca*" and Mg?" is represented as the hardness indgx of

walter.

Which of the following is correct about the biogeochemical cycles within
environmental system?

A)  Clostridium assists in the denitrification process during the nitrogen cycle.

B) The phosphorus cycle lacks an atmospheric phase

the

C) The major source of carbon dioxide in the carbon cycle is only atmospheric cafbon

dioxide

D) During the sulfur cycle, Thiobacillus bacteria rapidly oxidize H,S to sulfates under

anaerobic conditions

Which of the following detectors used in Gas Chromatography is suitable fof the

detection and measurement of organics?
A)  Atomic Emission Detector (AED)
B) Flame Photometric Detector

C) Electron Capture Detector (ECD)

D) Flame lonization Detector (FID)

Which of the following gases is most preferably contained in a hollow cathode larhp of

an Atomic Absorption Spectrophotometer (AAS)?

A) Nitrogen

B) Helium

C) Argon

D) Radon

Which of the following species can interbreed, but cannot produce viable offsprinLg.
A) Ecotype

B) Ecads

C) Ecocline

D) Ecospecies

2

(39) (A) ) [P{T.O.
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31. Which of the following assumptions is not considered in the Lotka-Volterra model that
describes the population dynamics of intéracting species in an ecosystem?

A) The Populations are not allowed to diversify
B) The competition coefficient is variable
C) The carrying capacity is constant

D) The habitat or the environment is homogeneous

32. Which of the following terms indicates the rate of storage of biomass in photosynthetic
autotrophs that exceeds the respiratory use by the plant during a given period?
A)  Gross Primary Productivity
B) Net Primary Productivity
C)  Standing Crop
D) Standing State -

33. Which of the following options is correctly matched for Column (P) and Column (Q)
: in terms of popular terms/theories of ecology and ecosystem with its proponent?

Column - P Column-Q _
P) Emst Haeckel - ) Monoclimax Theory
Q) A.G Tansley : ) Ecology

R) Frederic E. Clement Il) Biocoenosis

S) Karl Mobius IV) Ecosystem

Choose the correct option:

A) (P, (Q-AV), R)D), (S
B) (P)-(D), (QrD), (R)-(D), (S)}-(IV)
€)  (®)-av), (Q-(D, R)}-D, (S)-(UD
D) (P)-(ID),- (Q-D; (RID, (S)-AV)

34. Which of the following is an example of a lacustrine ecosystem?

A) River
B) Lake
C)  Spring
D) Stream
(59) (A) (10)
'




35. Which of the following statements is/are true for ecological pyramids?
I.  Bcological pyramids of energy can never be inverted
II. Inany ecosystem, pyramids of numbers overemphasize large organisms
M. Inany ecosystem pyramids of biomass pyramids overemphasize small organisms
Choose the correct option:
A) Iland Il are true
B) Onlylistrue
C) LI, and I are true
D) None of the above is true
36. Which of the following types of interaction between two species is beneficial for bqth
but non-obligatory?
A) Protocooperation
B) Mutualism
C) Intraspecific competition
D) Commensalism
37. Which of the following refers to the maximum per capita growth rate during lhe
exponential growth phase (J-shaped population growth curve) of population, in the abserjce
of any environmental resistance?
A)  Gross reproductive rate
B) Netreproductive rate
C) Biotic potential
D) Carrying capacity
38. Which of the following statements is incorrect?
A) Ecotone is the zone of transition between two or more diverse communities
B) Realized niche is characterized by biotic constraints
C) Keystone species are the ones that occupy a similar niche in different geographigal
locations
D) Beta diversity refers to the biological diversity between habitats
39. Which of the following refers to the biological phenomenon where some neighborip
organisms get adversely affected by the release of some biochemicals or secondgry
metabolites by an organism?
A) Mimicry
B) Invasion
C) Endemism
D) Allelopathy
40. Which of the following is correctly depicting the stages of ecological succession frgm
the initial to the final stage?
A)  Ecesis, Competition, Nudation, Climax, Aggregation, Invasion
B) Nudation, Ecesis, Aggregation, Invasion, Competition, Climax
C) Nudation, Invasion, Ecesis, Aggregation, Competition, Climax
D) Invasion, Ecesis, Competition, Nudation, Aggregation, Climax
(39) (A) (11) [P.T.D.
3 [




41.

Which of the following eritically endangered species of Jammu and Kashmir is
conserved under the Species Recovery Programme of the Integrated Development
Wildlife Habitat (IDWH) scheme?

A) Great Indian Bustard

B)  Dugong

C) Swamp Deer

D) Hangul

42. Which of the following options is correctly matched for Column (P) and Column (Q)?

Column - P Column - Q

P) Bio sensor I) Azolla

Q) Biofertilizer M) Composting

R) Bio-remediation IlT) Bt Cotton

S) GM Crop IV) Electrochemical transducer

Choose the correct option:

A)  (P)-D, (Q-1V), (R)-(D), (S)-(ID)

B) (®)-(V), (Q-I), (RN, (S)-(II)

O  (®-1v), (Q-), [R)-(D), (S)-(I)

D) (P)-(IID), (Q-(I, ([R)-D), (S)-(IV)

43. Which of the following comes under the affective domain of Environmental Literacy?

A) Environmental values

B) Intention to Action

C) Knowledge of natural systems

D) Involvement in responsible environmental behaviour

44. Which of the following is the correct option for the matching problem in the context
of seismic waves/activities of Earth and their distinct features?

Column - (1) Column - (2)

P) Swaves I) Weakening of high-frequency
seismic waves with increasing
distance from the epicenter

Q) Pwaves I) Increase in the intensity of seismic
shaking in the direction of the fault

: rupture

R) Attenuation [II) Produce an up-and-down or side-to-
side motion at right angles to the
direction of the wave propagation

S) Directivity IV) Compressional waves that travel
through solid, liquid, and gases.

Choose the correct option:

A (P)-aD, (Q-O, ®R)-AV), (S)-ID)

B) (P)-(1V), (Q-II), (R)-I), (S)-(I)

C) (P, @Q-av), ®R)-1), (S)-(I)

D) (P)-(), (Q-D), R)-1), (S)-AV)

(39) (A) (12)




45.

46.

47.

48.

49.

50.

(39) (A) 13) [P.T)

Which of the following statements is/are true in the context of the geological timesca
I.  The first dinosaurs appeared during the Jurassic period

II. The first organisms with shells appeared during the Cambrian period

III. ThePrecambrian period is characterized by the origin and evolution of life

IV. The Holocene epoch is often referred to as the Tce Age'

Choose the correct option:

A) landll

B) IVonly

C) ILLandlV
D) Handll

Which of the following is incorrectly matched?
A) Continental Drift Theory: The Idea of Supercontinents

B) Mantle Convection: Heat from Earth’s core and radioactive decay within the mantle

C) Isostatic Adjustments: Horizontal movement of the lithosphere in response t
changing burden on the surface '
D) Hotspots: Surface expression of mantle plumes by volcanic activity

Savanna Woodland is a feature of which of the following climate?
A) Moist Subtropical Climate

B) Dry mid-altitude ¢limate

C) Wet-dry tropical climate

D) Dry subtropical climate

Which of the following components has the highest Albedo?
A) Forest

B) Black pavement

C) Water

D) Snowandice

Which of the following is correctly stated?

A) El Nifio refers to the invasion of cold surface water in the Central and east¢

Pacific
B) During La Nifia, trade winds become stronger than normal
C) La Nifia contributes more to Pacific hurricanes
D) El Nifio causes frequent Atlantic hurricanes

Which of the following does not arise predominantly from the complex interplay
both the Pressure Gradient Force and the Coriolis Force?

A)  Geostrophic wind

B) Cyclones

C) Land and sea breezes

D) Trade winds

e?
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51.

52.

53.

54.

S5

Which of the following represents the time interval or the fundamental unit in the
Geomagnetic Polarity Time Scale (GPTS)?

A) Magnetometer

B) Chron

C) Paleomagnetism

D) Curie point

Which of the following landforms is associated with karst geomorphology?

A) Zeugen
B) Eskers
C) Alluvial fans
D) Karren

Which of the following is matched correctly with column (A) to column (B) respectively
in terms of geological structural features and their characteristics?

Column - A Column - B

P) Strike-slip fault [) Bowl-shaped folds

Q) Dip-slip fault II)  Arch-shaped folds

R) Anticlines 1) Displaced vertically
S)  Synclines IV) Displaced horizontally

Choose the correct option:

A)  (P)-(IV), (Q)-(Im), (R)-(IM), (S)~(I)
B) (P)-(II), (Q)-AV), (R)-(I), (S)-(ID)
O (@®-1D, (@Q-aV), R)-(), (S)-(I)
D) (@)D, (@-dm, R)-M, (S)-AV)

Which of the following statements is/are true in the context of the weathering of rocks

and minerals?

I Large piles of loose angular rocks are called a talus slope

II.  Major processes of chemical weathering include dissolution, hydrolysis, and thermal
expansion-contraction

IM. The process of weathering by exfoliation is never associated with granite.

IV.  Quartz is often prone to mechanical weathering

Choose the correct option:

A) TandIl

B) HandIV,1I
C) MMandIV
D) TandIll

Which of the following refers to the rate at which the incoming solar energy arrives at
the per unit area of the top of the atmosphere?

A) Solar insolation

B) Solar constant

C) Beam Radiation

D) Attenuation

(59) (A) (14)



56.

R 7

58.

- 59,

60.

61

(59) (A) 15y [P.T.0

- B) Higher Heating Value (HHV)

- Which of _the following types of doping creates p-type semiconductors in solay

- A)  Available wind power
 B) Power coefficient

D) Average wind power

Wthh of the following does not belong to a category of geothermal energy?
~A)  Hydrothermal

'C) Chemothermal
D) Petrothermal

. Whiich of the following isotopes of uranium is primarily used in nuclear fission reactors

o
B %
Q- %
i 2

Which of the following is essentially contained in the oil shale sedimentary rocks?

A)  Bitumen
B) Kerogen
C) Gasohol
D) Tar

L4]

Which of the following accounts for the heat energy released from the complet
combustion of a fuel when the water vapor condenses into liquid form?

A) Lower Heating Value (LHV)

C) Specific Heat Capacity
D) Latent Heat

photovoltaics?

A) Boron doping

B) Phosphorus doping
C) Arsenic doping

D) Antimony doping

W}li.ch of the fol loWing refers to the fraction of the free-flow wind power that a rotor of

a windmill can extract?

C) Power output of the wind rotor

B) Geoprcssuréd




62.

63.

64.

65.

66.

67.

Which of the following is produced from the thermochemical gasification of
lignocellulosic biomass such as wood or other agricultural or forest residues? '
A) Biooil

B) Bio diesel

C) Biogas

D)  Syngas

Which of the following is the threshold of hearing of the human ear?

A) 20 Pascal

B) 10 Decibels

C) 20 micro pascals

D) 10Hz

Which of the following is not a key principle of mufflers or silencers used to reduce the

noise generated from the exhaust system of an engine in an automobile?
A) Absorption

B) Frictional resistance

C) Reflection

D) Destructive interference

Which of the following is a Dense Nonaqueous Phase Liquid that contaminates by sinking
deep into the groundwater and is often difficult to remove?

A) Benzene

B) Carbon tetrachloride
C) p-Xylene

D) Toluene

Which of the following soil horizons is called the zone of eluviation?
A)  Ohorizon '

B) A Horizon

C) Bhorizon

D) Chorizon

Which of the following is matched correctly with heavy metals and their sources in
soil, respectively? 3

Heavy Metals Sources

) R I)  Leather tanning

Q) Al M) Coal combustion

R) As Ill) Bordeaux spray

8). «Cr IV) Bauxite mining

Choose the correct option:

A) (P)-1V), (Q)-(1), (R)-ID), (S)-(I)
B) (P)-(), (Q-AV), R)-(I), (S)-(I)
O @®-0, (Q-1V), R)-(I), (S)-(I)
D) (P)-(IIT), (Q)-AV), (R}(ID, (S)-(D)

(59) (A) (16)
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69.

70.

71.

72,

73

Which of the following techniques is not used to measure total coliform in water samplegs?

A)
B)
®)
D)

Which of the following radioisotopes is associated with the chemistry of organism$?

A)
B)
O
D)

Which of the following biological treatment processes used in secondary treatment ¢f
wastewater is a suspended growth process?

A)
B)
®)
D)

Which of the following diseases is caused by a bacterial pathogen?

A)
B)
©)
D)

Which of the following is/are the criteria pollutants specified by National Ambient A{r
Quality Standards (NAAQS)?

A)
B)
€)
D)

Which of the following is true?

A)

B)
&)
D)

(39) (A)

Maximum Probable Number (MPN)
Membrane filtration

Nephelometry

Multiple Tube Fermentation (MTF)

Stronium-90
lodine-131
Thorium-232
Cesium-134

Activated sludge

Rotating Biological Contractors
Trickling filters

Biological Aerated Filter

Hepatitis

Cholera
Poliomyelitis
Amoebic dysentery

Carbon monoxide and Nitrogen dioxide
PM, ., PM , and Lead
Sulfur dioxide and Ozone

All of the above

A catalytic converter can only control the emission of hydrocarbons and nitrogep
oxides from automobile exhaust, and not the emission of carbon monoxide
Methyl Tertiary Butyl Ether (MTBE) is used to enhance the octane rating of gasolinjz
The efficiency of cyclone collectors can be above 90% for sub-micron particles
Dry scrubbers offer higher removal efficiency of sulfur dioxide from the flue ga$
stream than wet scrubbers

17) [P.T.Oi
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73,

76.

7010

78.

Consider the following Statements:
Assertion (A): Markets often fail to allocate environmental resources efficiently.

Reason (R): There are non-existent or undefined property rights for environmental
resources

Choose the Correct Option:

A) Both (A)and (R) are true, and (A) is explained by (R)

B) Both(A)and (R) are true, and (A) is not explained by (R)
C) (A)istrue, but (R)is false

D) (R)istrue, but (A) is false

Which of the following is not associated with public goods?
A) Non-excludability

B) Rivalry

C) Free rider

D) Indivisibility

Which of the following is most appropriately related to the Coase Theorem of public
goods in environmental economics?

A)  Assignment of property rights

B) Costly transaction

C) Unmeasurable and inaccessible damages
D) No presence of externalities

Which of the following is an example of a positive externality in environmental
economics?

A) Waste disposal

B) Traflic congestion

C) Advancement in the production process
D) Deforestation

Which of the following is equivalent to one carbon credit?
A) 1 ton of carbon dioxide reduction/removal

B) 10 tons of carbon dioxide reduction/removal

C) 100 tons of carbon dioxide reduction/removal

D) 100 kilograms of carbon dioxide reduction/removal

(39) (A) (18)
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80.

81.

82.

83.
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Which of the following options is correctly matched for Sustainable Developmeht

Goals (SDGs) and Targets?

SDGs Targets

Py SDG2 I)  Clean Water and Sanitization
Q) SDG7 1) ZeroHunger

R) SDG13 1) Clean Energy

S) SDG6 IV) Climate Action

Choose the correct option:

A (P)-d), (@Q-Im), ®R)-AV), S)-I)
B) (P)-AV), (Q-0O), ®)-(II), (S)-(II)
€ @O, (Q-U), ®)-1AV), (S)-1)
D) (P)-(ID), (Q-1), ®)-(I), (5)-(IV)

Which of the following products is not produced from the valorization of CO, durir
Carbon Capture Utilization and Storage (CCUS)?

A) Blue hydrogen
B) Greenurea

C) Greenammonia
D) Natural gas

Which of the following authorities assesses and certifies the Eco-mark to a product |
India?

A)  Central Pollution Control Board (CPCB)

B) Bureau of Indian Standards (BIS)

C) Ministry of Environment and Forest (MoEF)

D) National Environmental Engineering Research Institute (NEERT)

Which of the following identifies important and unimportant environmental issues a

concerns, along with the regulatory requirements of a project during Environment
Impact Assessment (EIA)?

A)  Impact Prediction
B) Screening

C) Scoping

D) Impact Evaluation

According to the Environmental Impact Assessment Notification (ETA) 2006, whic

of the following categories of projects require mandatory environmental clearance bt

do not undergo the screening process?
A) Category A

B) Category Bl

C) Category B2

D) All ofthe above

g
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84. Which of the following types of Life Cycle Assessment (LCA) methods is suitable for
a product when all inputs and outputs are reflected for all stages of the life cycle?

A) Cradle-to-gate
B) Cradle-to-cradle
C) Gate-to-gate

D) Cradle-to-grave

85. Which ofthe following International Standard Organization (ISO) series is associated
with the implementation of an Environmental Management System (EMS)?

A)  TSO 14040
B) TISO 14001
C) TSO 14020
D) ISO 14030

86. Which of the following articles of the Indian Constitution allows Indian citizens to protect
the environment as part of their Fundamental Duties?

A) Article 49 A
B) Article48 A
C) Article51A
D) Article53A

87. According to the Solid Waste Management Rules 2016, which of the following is
considered into the domestic hazardous waste stream?

A) Metal
B) Wood
C) Plastic
D) Diapers

88. According to the COP 26 held in Paris, which of the following refers to India's targeted
timeline in achieving a net-zero emission goal?

A) By 2030
B) By 2050
C) By 2070
D) By 2040

(59) (A) (20)



89. Which of the following is correctly matched with environmental conferences/summits
and their years of occurrence?

Environmental Summits/Conferences Timeline

P) Stockholm Conference i I) 2002

Q) Rio Earth Summit oy 1992

R)  World Summit on Sustainable I 2009
Development, Johannesburg

S)  Copenhagen Summit (COP 15) V) 1972

Choose the correct option:

A)  (P)-IV), (Q)-I), (R)-(I), (S)-(IL)
B) (P)»-(V), (Q-(I), (R)-(II), (S)-(I)
C) (P-am), (Q-1O), ®-1AV), (S
D) (P)-(II), (Q)}-(I), (R)-AV), (S)-D)

90. According to the Plastic Waste Management Rules 2016, which of the following should
be the minimum thickness of plastic carry bags?

A) 40 microns
B) 50 microns
C) 60 microns
D) 30 microns

91. Which of the following is not considered for emission reduction under the Kyoto|

Protocol?
A) Nitrous Oxide
B) Methane

C) Carbon monoxide
D) Sulphur hexafluoride

92. Which of'the following scholars delivered the Preservation Theory under the purview
of Western environmental philosophy in the famous 'Land Ethics' essay?

A) Ralph Waldo Emerson
B) James Lovelock

C) Aldo Leopold

D) Arne Naess

(39) (A) (21) [P.T.O.




93. Which of the following is correctly matched for the characterlstlcs related to d1fferent
theories of environmental ethics? : -

Environmental Ethics Key Feature . |

P) Deep Ecology I)  All species are part of an mdependent
system

Q) Anthropocentrism )  Alllife forms and ecosystems on Earth have
their own mmnsm value. :

R) Biocentrism 1) Huma_ns are superior to all life forms.

S)  Ecocentrism IV) Thelife value of the nonhuman world is not

determined by its conmbutlon to the human
world :

Choose the correct option:

A)
B)
0
D)

@)-a1), (Q-(D, R)-(AV), (S)-(I)
(P)-(1V), (Q)-(Im), (R)-(D), (S)-(I)
(P)-(D), (Q-(I), RMHIV), (S)-(I)
(P)-(D, (Q-(I), (R)}-(I), (S)-1V)

94. In which of the following countries is the headquarters of the lnfernaﬁonal Um’on_i fo_i‘ :
Conservation of Nature (IUCN) located? : :

A)
B)
0
D)

Kenya

Switzerland

United States of America
Germany

95. Which of the following is associated with a private company's role in self-regulation and
voluntary engagement in sustainable social and environmental actions? o

A)
B)
0
D)

Extended Producer Responsibility

Polluter Pays

Common but Differentiated Responsibilities
Corporate Social Responsibility

96. Which of the following is not a phase of the Environmental Kuznets Curve?

A)
B)
0

D)

(59) (A)

Environmental quality improves with a fall in per capita income
Environmental quality improves with an increase in per capita income

Environmental quality initially falls and then rises with an increase in per caplta
income

Continuous deterioration of environmental quality Wlth an increase m per capita
income

(22)




97. Which of the following toxic substances was released during the Bhopal Gas Disasfer
(1984)?

A) Methyl hydrazine

B) Methyl thiocyanate

C) Methyl isothiocyanate
D) Methyl isocyanate

98. Which of the following nuclear disasters occurred in the year 19867
A)  Fukushima Daiichi nuclear disaster
B) Nuclear holocaust in Hiroshima and Nagasaki
C) Chernobyl nuclear disaster

D) Three Mile Island nuclear disaster

99. Which of'the following environmental movements took place in the year 1983 to protefct
the tree of Kalase forest in the Western Ghats of Karnataka from felling?

A)  Chipko Movement

B) Jangal Bachao Movement
C) Silent Valley Movement
D) Appiko Movement

100. Which of the following is the correct option for the following matching probler
regarding the year of launching of different wildlife conservation projects?

—

Project Year
P)  Project Tiger I) 2020
Q) Project Snow Leopard m 1973
R)  Project Elephant I 2009
S)  Indian Rhino Vision IV) 1992

Choose the correct option:

A)  (P)-1V), (Q-(IL), R)-I), (S)-(I)
B) (P)-(1), (Q-(ID), R)-(1V), (S)«(1)
€ (@)-an, (Q-I), R)-(IV), (S5)-()
D) (P)-(I), (Q)-(1), R)(I), (S)-(IV)

(59) (A) (23) [P.T.O.




ROUGH WORK

(59) (A) 24




DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

Booklet Serial No. * 3 l 2 5 913 ' est Bo
TEST BOOKLET
LECTURER - (10+2) A
HINDI
WRITTEN TEST - 2025
(75)

Time Allowed: Two Hours Maximum Marks: 100

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN (JR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLHT.

2.  Please note that it is the candidate’s responsibility to encode and fill in the Roll Numbger
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepanpy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepangy
will render the Response Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test booklet contains 100 items (questions). Each item comprises of four responses (answeifs).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In cdse
you feel that there is more than one correct response, mark the response which you consider Whe
best. In any case, choose ONLY ONE response for each item.

5.  You have to mark all your responses ONLY on the separate Answer /Response Sheet provided. Jee
directions in the Response Sheet.

6.  All items carry equal marks.

7.  Before you proceed to mark in the Answer /Response Sheet, the response to various items in fhe
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instructigns
sent to you with your Admission Certificate. :

8.  After you have completed filling in all your responses on the Response Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer /Response Sheet. You pre
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response Shept .

9.  Sheets for rough work are appended in the Test Booklet at the end.

10, While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Sheef in
appropriate boxes use “ONLY BALL POINT PEN”.

11. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE

CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS).

(i)  There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, (0.25) of the marks assigned to that question
will be deducted as penalty.

(i)  Ifacandidate gives more than one answer, it will be treated as a wrong answer even if one of|the
given answers happens to be correct and there will be same penalty as above for that questiof.

(i)  Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty|for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
(75) (A)/2025 [P.T.0.




(75) (A) ()]




; [27?
ﬁﬂzﬂwmﬁ_ﬁ
ﬁwﬁ-ﬁ;a
1. e

A)
| .
0)
D)

|
8

d

al

I T 2 2
ﬁﬂwm”
2. .
| A W@
B) ®
C) = |
D) @

i
i maamm._
e A A o

ﬁql .

3. _

o A) g

B) 3Fg

C) wda

D) e

. ?
mﬁm@mﬁmﬁ
* TR
4. :i;m;:am“ﬁﬂ
B) ﬁa.uﬁ;ﬁ
C) W@gqﬁ ‘ |
i A geafaa & 7
Eﬂ“ﬁﬁmﬁw
"
B) fuwm wfa
C) =l
D) whR=E

| @)
5) @

{T.0.




10.

TW Taw fraeh! @ g
A)  IrEgiEaE
B) #&gn

C) & u™

D) wwas

Frawy =t wayfd e =g i 27
A) g
B) &Y
C) +isg
D) wE3

qETETEY % R S 27
A) gemafa fas=

B) W@

C) wegm

D) sfitr

e 23 | w4 g femm wae
A) Wi

B) snings

C) wER

D) fremaf

g v o it 7 T, @ i ag e et fehe e & s ufe 22
A) THEHE

B) g™

C) wWww

D) 3mEgEAH

(75) (A) )




11;

12.

13;

14.

15.

faferfeaa # ® %17 gafera T8 2-
A) ufdndt Rl - s

B) et fedt - gt

C) U - el

D) ferrd - wr

At sty @ R W = e T gan e

A)  ford
B) 3fem
C) s
D) ueErE

sraeht ot foreera forw erasion & gam 22
A) ek wwER

B) el
C) Yur=h
D) viREH

& § e & forem 9g 2 €
A) 6
B) 7
C) 8
D) 9

o= forfiaa @ @ =i wom gafea T8 €2
A) AYEI-TSIA

B) 3ot AE-IUHRA

C) fem—<itumn

D) w=-{ici%s

(75) (A) - (E))




16.

17.

18.

19.

20.

fon forfiam ® @ @i aeam—avea gafem T@ 27
A)  Fta-rE

B) 3WdeTeh—3H
C) wwui-FH
D) wwuRe-fware

34 visg fomm W s 27
A) T
B) Rt

C) g
D) awmdEl

AT Ta dehiich! YRSTEElt HTERT 6l TAT e 552

A) 1955
B) 1961
C) 1964
D) 1965

wferum i sngel srgash & siata fe d @ fea wm S T ww A e
A) @@=t

B) dferedt

C) wregd

D) st

e # @ @i wgea saw= T8 87

A) &

B) ¥

C) =

D) =

(75) (A) (6)




21, T forfam o @ otw avdf T B 7
A) =
B) #
0 =
D) ¥

22. fre fafaa o @t welam @ 9 T R?
A) qEW =
B) figmam=s
C) W& AT

D) U Tk

23, “ioR UTR Wi T ST 36 e Ui H whiv T TR 87
A) INeW FAFR
B) SUHl 3EER
C) TUE AAHR
D) IH® AEHR

24, Toremafy ugraet & v s gl
A) W
B) #fteh

C) srergd

D) wwm

25. el & oread wv Rl @ T ?
A) g T
B) RHETERTE
C) HEITH
D) diEcrs w

(75) (A) (7 [}.T.O.

\ ‘ L



26.

27.

28.

29.

30.

fafafaa § @ i gafem & 272
A) TR TE-ImER

B) WARH-gedfd o
C) e THI-TIHES

.

D) THeeSe-Segul

WIAER ATgATe T8 % Tt §-
A) A gt
B)  wnfewg gR
C) FaemaR
D) fmas

w%wﬁm?—
A) @
B) wEwW

C) wEm
D) sifeym

‘sereRTar foreeR o 22
A) T

B) FRzmgR

C) @y

D) wnfersg gR

g s fU2 =g wans - a e fgma 2
A) TRHE
B) fuz=f
C) =l

D) H&®wE

(75) (A) ®




31.

32.

33.

34.

35,

wfente @t waut gu fhaa wEn?
A) =i ImfeeTE v

B) e

C) fima firam

D) fasay

T wifge & anen sl forem foran?
A)  Ren mEE

B) sigg augH

C) sigmm=

D) s aferm foeiem i

frferian & & F gakw 7

A) & wifee = dmfie shem—t s o

B) fid wifen @ Rremmes sfiem —sf momf ag W

C) & afeca ot waem at e -sreen fig smeam ghafty
D) & v i wifgen w1 sfagr—amemd wgEn v

AT THATZHT F A i 8 7
A) TR

B) iR

C) %g %ar

D) e yE

ERl-Fee Y ieen <t g form T T gon 37
A) A TE '

B) dfiueea wat

C) g Tat

D) yeRm T

(75) (A) _ ®

[P.T.O.




36.

37.

38.

39,

40.

(10)
(75) (A) _

70 URERT 3 AW HUEE i 97
A) UueE

B) &g aEa

C) g

D) frEysw wer

Wk d9ar & werden 87
A) SHEwm
B) cwEMm
C) wEw
D) ™

Freueamdt fobe wisara & wwafm 97
A) %5 uvEE -

B) Eqgchd@ueE
C) wEitEweE
D) wegEh HyeE

'fﬁﬂﬂaﬁmtﬁaﬁ&a’tm%’-ﬁmﬁm?

A) HEW

B) wmFg I
C) Fwagm
D) Fwnm

et I 6 e R @
A) WYE T

B) =&Re™

C) weEm

D) ygyaTw




41.

42.

43.

44.

45.

TR T T’ &t WA R i ?
A) THEEH

B) "HE™

C) wHmEE T

D) THEE

enTEd 1 EHEN -
A) 1503
B) 1540
C) 1560
D) 1601

e foradh w22
A) FEE[R

B) Y&t

C) <eEad

D) smem

fraferfaa @ @ = w78 2-
A) BYAER -
B) wmEd-FgeH
0) FEmEei-veas
D) & efet-aiem A

Tty feraeh A 22
A) T_TE

B) T ¥ewe

C) smEM

D) s@Tm

(75) (A) (11)

J

[P,

T.0.




46.

47.

48.

49.

50.

o g @ =W A ° W R st w egum fReR v e
A) wg e

B) viE®
C) ug TR
D) a¥Ea I

@ I SEliAe TR gavem R war?
A) e e

B) %g A&

C) afHaTw

D) vig®

ot H W T SIS SRR T WG T 27
A) BT I

B) I g

C) weagI™

D) e ST

HeTHR WIS 1 Yadeh fohdl WAT SIaT 82
A) g

B) =&

C) T

D) aw

ep YIS B TR SR R T 37
A) g
B) &
C) amm

D) T

(75) (A) (12)

e e e e . L e e




51.

52.

53,

54,

55.

Siferrem e foReR A e
A) =R

B) =&

C) smE=aL

D) aiitFaTw

A) wwE

B) ufga U=t s

D) Y& =

(15 A) (13)

JL.O.




56.

57.

8.

59.

60.

7 yrgredt e e wa-

A)
B)
C)
D)

A)
B)
©)
D)

w52

Shh
ame

A6

HAERt AT & FEATTH D ¢ 7
|

T =g T
1 AR
aran gR g

= AR s

3 E

A)
B)
&)
D)

1915
1914
1912
1910

gavia 39 fra 27

A)
B)
€)
D)

g
TGTA W
Sreran v fus
TR A

hiaal & wfar Fa &g T ?

A)
B)
©)

D)

(75) (A)

AR
.
IR I e

R wed




- 6l

62.

63.

64.

65.

12 =i fore &t wreiier el amaitfora gan 22
A)  =aTh - A

B) @ga-g.%.
C) 4R q3-urdivm
D) id-foesht

oo el Tt 3k e e % R e st greRR fren?

- A) e e

B) fefAmm
C) fRerea

D) wwa wem

Frefifan el § A FRA TR e 7@ fen?

A) fed=w

B) amm

C) 3TH & IR =R

D) - ok

zfera aifarar afe % wvares §-
A) T THY HaH

B) . geweit vm

C) Rueame

D) vt TE

A) e wfern

' B) . vy

C) ITHU HHA

D) ¥org amR

A 15)

[P.T.Q.




66.

67.

68.

69.

70.

e forftem o & =i gafea a8 27
A) TG TR

B) FastiaA-Hge mieh

C) AYTI-NEHIEA Wi
D) WRUI-SweEg

“RAg Ut & Hurgeh i A7
A) Sarg AR fHs

B) W"ﬁﬁﬂﬁ

Q) wEFAwTE sed

D) Sregsn W

fae fafiam o o gafem @ 27

A) =7 AT AgE T

B) wfE-tren Ry fem g
C) e - wemm fig

D) e ador-sh e T

‘31 e fo Fra faan R = 22
A) =Ed

B) @
C) vt

D) aTwd

snfadt wEm A fhae amn ga 27
A) '
B) HiEgA W

C¢) foieam

D) HHAR

(75) (A)

(16)




71.

72.

13.

74.

73

e i el ATE’ TH ATATHTHS JEdeh o TOHTRR 8-

A) HIA A
B) = aHaER
C) AT THEH
D) = i

afifer w = feraht o §2
A) T

B) Hume UmwEy

C) fguit ewrETe

D) s

Foreht o fea 3R gees o oree §¢
A) foren fama fas

B) TR st

C) fooo e vl

D) wafeRi Taw

frefefien o @ wfem Fda & 272
A) wifEe sik weRla

B) foaem$oig

C) o & A

D) &A1

(75) (A)

17)

[P.T.0.




76.

77.

78.

79,

80.

f3 TR AT i YHITERAT TH YN FHEATN 8, I THR TGA Il GoRIEE W 90
FEeTe 2. 550 1 T g e & forg e 4 Aot S wies T st o 2, 39 s
FEd &/— T8 HeA e 27

A) T R GEd
B) =g Y
C) Teran frama fas
D) Tmfaens v

form ferfiem # = gRfoa @i 27

A) | - = YE

B) U= 3R Ueeta-guehra B frren
C) BETENE H Ua— TR

D) Su=ie F1 Sha-waa R maem

frer o TR 1 @ i AT T 27
A) W GEIN-WIAAG RIS
B) 39 SI-TUE T TEAY
C) YRA g3t Aa Bt
D) YRA SATE-THERST g/

“3ien o Fe Wal S, WE TS @A Fada g wrea ufem femw e @ vt 22
A) WA g

B) 3R T

C) et

D) 9| SR

ATl T Vi TG o hE ek il U 27 .
A) < TH

B) w=TW

C) yaeatt

D) 3R

(75) (A) (18)




81.

82.

83.

84.

85.

“FTEU] U8 YT 91 gARY’ g fer ferw e | Tt 27
A) TR
B) whalH
C) T v
D) vAiE

= & @ =i Tea w2
A) TG whl
B) whael

- C) 3amE

D) wed

= | @ w9 YR WETE T SRl TUE T 2 ?
A) g
B) aiht
C) IO

D) @

e 7 @ @i dme g T8 82
A) Y& & W@

B) =W

C) waw e

D) Y&E&HR

o 1 & =t ot i e B2
A) @rgRen

B) ywomefi

C) &u ¥

D).‘ﬁPﬁ

(75) (A) (19)

[P.T.0.




86.

87.

88.

89.

90.

= & & = gafem & 272
A) Tedt weeeR-smwT
B) wad-fde et

C) fora-vrer Sl

D) T S5 TEn—Heon et

Tafen afmy forad et 82
A) Tremfd

B) 3w frm@m

C) ~igehial

D) gEaren

T 3ag I fermet wa E-
A) HUTA UvEa

B) WHal wiferan

C) e sit

D) sgawR

i & Fre Fa TR @ A g
A) Temmta ares

B) wHIR ASH

C) uftefas Aes

D) TiaAreE

e © A 9 Wi T % A1EE ATNIG T T o 1 U A 27
A) wHIfcIE™

B) fawm

C) wfeest

D) 3Tt

(75) (A) (20)




91. frm=® & & a1 Su=E Aven SiEw @ wEta 2 e

A) TR

B) ffem
C) v
D) ®awEEd

92. o= i & F7 W IuE A = A R ?
A) M GA
B) gt
- O gEa
D) W

93. 3 T TR 1 G WA T Tk Sfram oy snenia 22
A) gedE™
B) H&™
C) e

D) wAFg

94, frafafaa # | #i7 gafera T 22
A) G- vER gt

B) WHH % §H—3IAATA AR
C) Syl H TR 8- T wwon T

D) WHA-F=<E @ anl

(75) (A) 1) . [P.T.OL




95. T # R i W1 T Tt o A 2
A) U A A W
B) W@ H &g
C) e et A

D) 3ifam snua

96. ‘ST Hael YT — THS EIHR 2—
A) FHg ufd
B) &0 ®HA

C) T

D) SHR S

97. R = R T Torwht = 27
A) Tmad iR R
B) AT
C) gftm
D) g

98. gﬁmﬁmwﬁﬁ,amm%wgqmmgmﬁﬁa%amﬁ%? |
A) T
B) P
C) vmIR s Rg
D) ey e

(75) (A) (22)




TER?
= % & =g gafem
99.

A)
B)
)
D)

e Froret Frren
vifert -
™ hi o
i

TR g?
o Iy

o 9 form visg

=

100.

A)
B)
©)

D)

(75) (A)

CEC

LRl
FRI9T

HETHT

(23)

[P.TLO.




ROUGH WORK

(75) (A) (24)




Pty ol e T e - A e e

T e R e T R T B

¥

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

Booklet Serial No. 312761

Test Booklet Series

TEST BOOKLET

LECTURER - (10+2) A
GEOGRAPHY

WRITTEN TEST - 2025

(61)

ime Allowed: Two Hours

Maximum Marks: 100

11,

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY ACOMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepancy
will render the Response Sheet liable for rejection.
You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.
This Test booklet contains 100 items (questions). Each item comprises of four responses (answers).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In case
you feel that there is more than one correct response, mark the response which you consider the
best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses Q/VLY on the separate Answer /Response Sheet provided. See
directions in the Response Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer /Response Sheet, the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Response Sheet and the examination
has concluded, you should hand over to the Invigilator enly the Answer /Response Sheet. You are
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response Sheet .
Sheets for rough work are appended in the Test Booklet at the end.

While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Sheet in
appropriate boxes use “ONLY BALL POINT PEN”.

Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS).
(i)  There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, (0.25) of the marks assigned to that question
will be deducted as penalty.

(i)  Ifacandidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above for that question.
(iii) Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL }-'OU ARE TOLD TO DO SO
A)/2025 [P.T.O.




(61

Match List - [ with List - 11 and select the correct answer using the codes given below :

List - I | List - IT
(Cyclones) (Local names)

1. Typhoon 1. Indian Ocean
2. Hurricanes ii.  China Sea
3. Tornadoes iii. Caribbean Sea
4.  Tropical Cyclones iv.  Guinea Lands
Options:

1 2 3 4

A i i i v

B) ii iii v i

C) i iv i i
oy - i

Match List - I with List - 11 and select the correct answer using the codes given below :

List - I ' List - 11
(Local Winds) (Country)
1.  Ghibli : i.  Spain
2. Chinook ii. Libya
3. Leveche i. USA
4. Chili iv.  Tunisia
Options:

1 2 3 4

A i i i v
B) ii i v i

Catl & 4 i
D) @i Qi i v

'Knob and kettle' topography related to which landforms :

A) Desert
B) Coastal
C) Glacial
D) Karst

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason(R ). :
Assertion (A): Many of the loess covered plains in the world are fertile agricultural
regions.
Reason (R):  Pampas of Argentina is a loess plain.
Select your answer from the codes given below:
A) Both (A)and (R) are true and (R) is correct explanation of (A).
B) Both(A)and (R)are true, but (R) is not correct explanation of (A).
C) (A)is true but (R) is false
D) (A)is false, but (R) is true

1(A) | ®) [P.T.O.
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11.

Consider the following statements: :

Assertion (A): The corals are best developed on the seaward side of the reef

Reason (R):  Coral reefs are generally available on the western coasts of the
continents.

Which of above statement(s) is/are true?

A) Both (A)and (R) are true and (R) is correct explanation of (A).

B) Both (A)and (R) are true, but (R) is not correct explanation of (A).

C) (A)is true but (R) is false

D) (A)is false, but (R) is true

The volcanic cone known as, lighthouse of the Mediterranean is:
A) Mt. Stromboli

B) Mt Chimborazo

C) Mt. Popacatapetl

D) Mt. Vesuvious

Which of the following is included in the category of relief features of third order
landforms:

A) Ocean basins

B) Plains

C) Faults

D) Seawaves

The seismic primary waves travel with fastest speed through:

A) Liquid

B) Gas

C) Vacuum

D) Solid

Who has given the concept 'present is key to the past' ?
A) A.Penck

B) James Hutton

C) WM.Davis

D) Herodotus

BRICS has recently expanded with members and partners countries. Which of the
following is true?

A) TIran, Egypt, Ethiopia and UAE

B) Egypt, Venezuela, Ethiopia and Nigeria

C) Malaysia, Iran, UAE and Venezuela

D) TIran, Egypt, Ethiopia and Cambodia

Hanging valley formed in which type of landforms?

A) Fluvial
B) Karst
C) Glacier
D) Acolian

(61) (A) )
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Which one of the following periods in the Geological time scale was first marked by the
appearance of the Fish?

A) Ordovician

B) Cambrian

C) Silurian

D) Permian

Consider the following statement about the Continental Drift Theory-

I.  Itwas put forth by Alfred Wegener in the year 1922.

[I.  The supercontinent was named Pangaea, and the mega ocean was called Panthalassa.
II. No evidences were found in support of the Continental Drift.

Which of the above statement(s) is/are correct?

A) I and III only

B) II and Il only

C) 1II only

D) All ofthe above.

Match the following :

Theory Propounded by
1.  Convection Current Theory i.  Harry Hess
2. SeaFloor Spreading ii.  Arthur Holmes
3.  Plate Tectonics iii. McKenzie, Parker, and Morgan
4.  Continental Drift Theory iv.  Alferd Wegner

Choose the correct option :
A) 11 2-u 3-1i 4-iv
B) 1-ii 2-1 3-iii 4-iv
C) 1-ii 2-ii1 3-iv 4-i
D) 1-ii 2-i 3-iv 4-iil

Consider the following regarding Karst Landform:

I.  The Karstregion has very little surface drainage.

II.  Stalactites and stalagmites are both depositional features of karst landforms.
Which of the statement(s) given above is/are correct?

A) Tlonly

B) Il only

C) BothIandIl

D) NeitherInorIl

Which of the following is mainly responsible for transmitting heat from Earth to the
Atmosphere?

A)  Shortwave solar radiation

B) Short-wave terrestrial radiation

C) Long-wave terrestrial radiation

D) Scattered Solar Radiation

) (A) (5) [P.T.O.




17. In India, the Tropic of Cancer passes through which of the following states?

18.

19.

20.

21.

. Gujarat

II. Chhattisgarh
. Tripura

IV. Manipur

How many of the above options are correct?
A) TIandIV only

B) ILIIL and IV only

C) LII,and Il only

D) LILULandIV

Consider the following statements regarding extratropical cyclones:
I.  They are characterized by a warm core.

II.  They can originate over both land and sea.

Ill. They move from West to East.

Which of the statement(s) given above is/are correct?

A) landIlonly

B) IlandIIl only

C) TIandIonly

D) TIlonly

Consider the following statements:

L.  The pressure gradient is strong where the isobars are close to each other.

II. The Coriolis force is inversely proportional to the angle of latitude.
III. At the equator, the wind blows perpendicular to the isobars.

Which of the statement(s) given above is/are correct?

A) TandIIonly

B) TIandIlonly

C) Ilonly

D) HandIllonly

Blue-collar workers are associated with which of the following activities?
A) Quinary activities

B) Tertiary activities

C) Primary activities

D) Secondary activities

Which of the following minerals is an example of a Non-Ferrous Mineral?

I.  Manganese
II.  Gold

III. Copper

IV.  Graphite

Select the correct answer using the code given below:
A) landlll only

B) I andIllonly

C) ILIIandIV only

D) LILI,andIV

(61) (A) (6)
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26}

Which of the following is a Man-Made Disaster?

A) Volcanic Eruption
B) Dam Failure
C) Hurricane

D) Flood

Consider the following pairs :

Phases of pepulation growth in India Description

1. 1901-1921 : Period of stagnant growth of population
2. 1921-1951 : Period of population explosion

3. 1952-1981 : Period of steady population growth rate
4. 1981-Present : Huge population but gradual slowdown

How many of the above pair(s) is/ are correctly matched?
A) Onlyone

B) Onlytwo
C) Only three
D) All four

Regarding agricultural activities, "Milpa" and "Ladang" are associated with which among

the following?

A) Primitive Subsistence Agriculture
B) Plantation agriculture

C) Mixed farming

D) Dairy farming

Consider the following pairs:

Oil Refinery Locations

1.  Tatipaka : Odisha

2. Paradip 3 Andhra Pradesh
3.  Koyali : Gujarat

4.  Bongaigaon : Assam

How many of the above palr(s) is/are correctly matched?
A)  Only one pair

B)  Only two pairs

C) Only three pairs

D) All four pairs

Consider the following pairs :

Stages of the Demographic Characteristics

Transition Theory

1. Stagel ! High birth and death rates

2 tage 2 : A decrease in the death rate but a continued
high birth rate

3. Stage3 : Decline in birth rates and low death rates.

How many of the pair(s) glven above is/are correctly matched?
A) Onlyone

B) Onlytwo
C) All three
D) None
(61) (A) ()]

[P.T.O.
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Consider the following pairs regarding the transcontinental railways with their
corresponding two end cities:

Railways Connecting cities
1.  Trans-Siberian Railway :  Moscow - Beijing
2.  Trans-Canadian Railway :  Vancouver - Halifax
3.  The Union and Pacific Railway :  New York City -San Francisco
4.  Orient Express :  Perth-Sydney
How many pair(s) given above is/are correctly matched?
A) Onlyone .
B) Onlytwo
C) Only three
D) Allfour
28. Consider the following statements with reference to the Eastern Ghats and the Western
Ghats:
I Thehighest peak of the Western Ghats is Anaimudi.
I[I. Thehighest peak of the Eastern Ghats is Mahendragiri.
IIl. The Eastern and the Western Ghats meet each other at the Nilgiri hills.
Which of the statement(s) given above is/are correct?
A) Tonly
B) IandIlonly
C) IlandIIIonly
D) LILandIII
29. Mohorovicic discontinuity or Moho discontinuity lies between which of the following?
A) Inner core and outer core
B) Outermore and mantle
C) Mantleand Crust
D) The lower crust and the upper crust
30. Which one of the following is the Cold Current?
A) Canary current
B) Alaska current
C) North Atlantic Drift
D) Kuroshio current
31. Adisaster response team needs ground distances quickly. They compare a reliable city
map (Scale 1:30,000) with an aerial photograph of the same area. The map distance between
the hospital and the bus stand is 3 cm, while the photo distance is 15 cm. What is the
scale of the aerial photograph (Sp)?
A)  1:6,000
B) 1:30,000
C) 1:3,000
D) 1:60,000
(61) (A) 8)
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IV.  Flowmap

A)
B)
©)

Column (A)
I.  Choropleth
II. Isopleth

. Chorochromatic

Select the correct option:
I-1,11-2, 111-3, TV-4
1-2, 1I-1, I11-4, IV-3
[-2, 11-4, TII-1,TV-3
D) I4,1-1,11-2,1V-3

d) contours :

A)
B)
0
D)

) (A)

-

a) contours :
b) contours :

¢) contours :

900-1400 m
3200-4000 m
1100-1600 m
100-300 m
Choose the correct matching :

L.
2
3

(b)

(d)

Match the items of column (A) with the corresponding item in column (B):

Column (B)
Continuous field with isolines

Densities for administrative units
Movements between origins and
destinations with line width proportional to
volume

Categorical/qualitative regions with distinct
patterns

Arrange the figures (a, b, c and d) by landform:

\\ /[
}\\' N j?“’ g
NI/

a-Gorge, b-Spur, c-V-shaped valley, d-U-shaped valley
a-V-shaped valley, b-U-shaped valley, c-Gorge, d-Spur
a-U-shaped valley, b-Spur, c-V-shaped valley, d-Gorge
a-Gorge, b-V-shaped valley, c-Spur, d-U-shaped valley

®

[P.T.O.




34. For the first time longitude and latitude were used by:
A) Homer
B) Ptolemy
C) Eratosthenes
D) Anaximander
35. Who has written 'Die Erdkunde'?
A) Ritter
B) Ratzel
C) *~ Humboldt
D) Vidal de la Blache
36. Match the items of column - A with the corresponding item in column - B:
Column - A: Projection Column - B: Properties
I.  Mercator projection P.  All great circles appear as straight lines and
distortion increases rapidly away from the
centre
IL.  Sinusoidal projection Q. Rhumb lines are straight -
Ill. Polar stereographic projection R.  Atpole, meridians radiate and parallels are
concentric circles
IV. Gnomonic projection S.  Equal-area and central meridian straight
(half the equator)
Choose the correct matching:
A)  1Q, II-S, II-R, IV-P
B) [P, II-Q, IlI-S, IV-R
C) IR, TI-P, 1I-Q, IV-S
D) IS, IR, II-P, IV-Q
37. The concept of Possibilism has been propounded by:
A) Vidal de la Blache
B) Carl O. Sauer
C) Friedrich Ratzel
D) -Hartshorne
38. For each statement (1)-(IV), mark it True (T) or False (F), then choose the optlon that
correctly identifies the set of true statements.
. Inaraster model, features are stored as a grid of cells, smaller cell size increases
resolution but also increases the storage.
I.  Vector is preferred when individual map features must be analysed, file size matters,
and high precision is required, vectors can also represent topology.
III. The raster model is efficient for network analysis and projection transformations.
IV. The vector model is compatible with remote sensing imagery and efficient for
representing high spatial variability.
Options:
A) LII and IIT only
B) I and II only
C) L II and IV only
D) 1I and IV only
(61) (A) (10)
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The range of a chi - square (»?) variate is :

A) o to 40

B) 0to o

C) Otol

D) —wxtol

An agronomist wants to check whether average crop yield differs across four fertiliser

treatments (P, Q, R, S). From each treatment, she collects an independent random sample

of plot yields under similar field conditions; the yield distributions are assumed normal

with a common variance. Which single test should she use to decide if the treatments

have different mean yields?

A) Many pairwise independent samples t-tests

B) Chi-square goodness-of-fit test

C) One-wayANOVA

D) Mann-Whitney-Wilcoxon U-test

The book 'Geographia Generalis' was written by :

A)  Strabo

B) Hecateus

C) Aristotle

D) Thales

The bifurcation ratio (Rb) is defined as the ratio of :

A) Total stream length of order # to basin area

B) Number of streams of order » to the number of streams of the next higher order

(u+1)

C) Basin perimeter to basin length

D) Mean stream length to mean basin area

Match the items of column - A with the corresponding item in column - B :

Column - A Column - B

1. Purposive sampling i.  Population is divided into internally
homogeneous layers

2. Random sampling ii.  Each population unit has equal chance of
selection

3. Simple sampling ili.  Sample units chosen with a definite purpose

4.  Stratified sampling iv.  Random sampling with constant selection
probability across independent draws

Choose the correct combination :

A) 14, 2-iii, 3-i, 4-iv

B) l-iii, 2-ii, 3-iv, 4-i

C) l-iv, 2-i, 3-ii, 4-iii

D) 14, 2-4v, 3-iii, 4-ii

(A) (11) [P.T.O.
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45.

46.

47.

48.

Which one of the water bodies separates the Andaman from the Nicobar?
A) 11°Channel

B) 10°Channel

C) Gulfof Mannar

D) Andaman Sca

On which of the following hill range is the 'Doddabetta’ peak situated?
A)  Nilgiri hills

B) Cardamom hills

C) Anaimalai hills

D) Nallamala hills

Match the physiographic regions with their characteristics :

Column-A Column - B

1. Bhabar i.  Marshy land rich in biodiversity
27N Terai ii.  Coarse alluvium, porous belt

3. Khadar - iii. New alluvial deposits

4.  Bhangar iv.  Olderalluvial deposits

Choose the correct option :
A)  1-ii, 241, 3-iii, 4-iv
B) 1-i, 2-ii, 3-iv, 4-iii
C) l-i1, 2-1i,3-1, 4-iv
D) l-iv, 241, 3-ii, 4-iii

Match the following :

Mountain Pass Region
1. ImisLa _ i.  Arunachal Pradesh
2.  Debsa Pass ii. Ladakh
3.  MangshaDhura iii. Himachal Pradesh
4.  Yonggyap Pass iv.  Uttarakhand

Choose the correct option :
A) 14, 2-iii, 3-ii, 4-iv
B) 141, 2-iii, 3-iv, 4-i
C) l-iv, 2-1, 3-iii, 4-ii
D) 1-iii, 2-ii, 3-i, 4-iv

Consider the following statements :

Assertion (A): The Narmada and Tapi rivers form estuaries instead of deltas.

Reason (R):  These rivers flow through hard rocks and not able to form distributaries
before they enter the sea.

Which of the above statement(s) is/are true?

A) Both A and R are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A

C) Aistrue but R is false

D) Ais false but R is true

(61) (A) (12)
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Which jet stream is responsible for bringing western disturbances to north-western India
during winter?

A) Polar front jet stream

B) Subtropical westerly jet stream

C) Tropical easterly jet stream

D) Arctic jet stream

Sandalwood is an example of:
A) Evergreen forest

B) Deltaic forest

C) Deciduous forest

D) Thorny forest

Consider the following statements :

Assertion (A): Laterite soils are poor in oxides of iron.

Reason (R):  Theyare formed under conditions of high temperature and heavy rainfall,
leading to intense leaching.

Which of the above statement(s) is/are true?

A) Both A and R are true, and R is the correct explanation of A.

B) BothA and R are true, but R is not the correct explanation of A.

C) Aistrue, but R is false.

D) Ais false, but R is true.

Match the following:

Buffalo Breeds State

1. Murrah L. Haryana

2. Bhadawari 1i. Uttar Pradesh
3. Jaffarabadi iil. Gujarat

4. Nili Ravi iv. Punjab

Choose the correct option:
A)  1-i, 2-ii, 3-iii, 4-v
B) 1-ii, 2-i, 3-iv, 4-iii
C) 1-iii, 2-iv, 3-1, 4-ii
D) l-iv, 2-iii, 3-ii, 4-i

In the Koppen's classification of climate, the symbol BShw refers to:
A) Tropical Savanah climate

B) Hot Desert climate

C) Semi-arid Steppe type

D) Tropical Rainforest climate

Thornthwaite's modified climate classification is based on the concept of:
A) Precipitation index

B) Incoming solar radiation

C) Effective Temperature

D) None ofthe above

(41) (A) 13) [P.T.O.
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The term "package programme" or "package technology" is associated with which of the
following?

A) Operation Flood
B) Green Revolution
C) White Revolution
D) Blue Revolution

Which year is known as the "Year of Demographic Divide" in India's population history?
A) ' 1911 '

B) 193]
C) 1921
D) 1951

The Salaya-Mathura pipeline is primarily used for transporting:
A) Natural Gas

B) CrudeOil
C) Petroleum Products
D) Water
Match the following:
Waterways Stretch
1. NWwWI1 1.  Prayagraj - Haldia
2. NWw2 ii.  Kottapuram - Kollam
3. NW3 iii.  Sadiya - Dhubri
4. NW4 iv.  Kakinada - Puducherry
Choose the correct option:
A) 14, 2-ii; 3-iii, 4-iv

B) 1-i1, 2-i, 3-iv, 4-iii
C) l-iv, 2-ii, 3-ii, 4-i
D) 1-i, 2-iii, 3-ii, 4-iv

Which Indian state is/are covered under the Desert Development Programme (DDP)?
A) Himachal Pradesh

B) Rajasthan

C) Haryana

D) All ofthe above

Which cash crop requires temperatures between 21°C-30°C and annual rainfall of
50-100 em for growth?

A) Cotton

B) Jute

C) Sugarcane
D) Tobacco

(61) (A) (14)



64.

65

Which river basin is called 'Rubr of India'?
A) Krishna Basin

B) Brahmaputra Basin

C) Mahanadi Basin

D) Damodar Basin

Which of the following hills form the North Eastern edge of the Chotanagpur Plateau?
A) Mikir Hills

B) Javadi Hills

C) Rajmahal Hills

D) Parasnath Hills

Consider the following statements :

Assertion (A): The Hill Area Development Programme (HADP) was started in the
Fourth Five-Year Plan.

Reason (R):  The main objective was to harness hydropower potential in the hill states.

Which of the above statements is/are true?

A) BothA and R are true, and R is the correct explanation of A

B) Both A and R are true, but R is not the correct explanation of A

C) Aistrue, Ris false

D) A is false, R is true

Match the states with their population density (Census 2011):
State Density (per sq km)
1. Bihar i 1102

2. Kerala i. 1029

3.  Uttar Pradesh iii. 859

4.  West Bengal iv. 828

Choose the correct option:
A) 14, 2-iii, 3-iv, 4-ii
B) 1-ii, 2-iv, 3-iii, 4-i
C) 1-i, 2-iii, 3-iv, 4-i

D) 14, 2-iv, 3-iii, 4-ii

Which one of the following is the largest linguistic group of India?
A) Sino - Tibetan
B) Indo-Aryan

C) Austric
- D) Dravidian
66} Match the following:
1. Humboldt Current i.  Eastern coast of Japan
2.  Canaries Current ii.  North Atlantic Ocean
3. Kuroshio Current iii. Western coast of Africa
4. - Gulf Stream iv.  Western coast of South America

(61

Choose the correct option:
A) v, 2-iii,3-1, 4-ii
B) -, 2-iii,3-iv, 4-ii
C). 14, 24, 3-iii, 4iv
D) l-iv, 2-ii, 3-iii, 4-i

) (A) (15) [P.T.O.
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69.
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Which soil type is predominant in the Deccan Trap region?
A)  Alluvial soil

B) Laterite soil

C) Black cotton soil

D) Red soil

The Karewa formations in the Kashmir Valley are important for the cultivation of:
A) Saffron

B) Tea
C) Wheat
D) Cotton

The Kashmir valley lies between:

A) Dhangand Shiwalik Range

B) Dhauli Dhar and Garhwal Range
C) PirPanjal and Zaskar Range

D) Hindukush and Karakoram Range

Which part of the Himalayan cryosphere has the largest glacier outside the polar regions?
A) Siachen Glacier

B) Gangotri Glacier

C) Zemu Glacier

D) Bara Shigri Glacier

- Which of the following is the correct sequence of crop seasons in India?

A) Zaid —» Rabi — Kharif
B) Rabi — Kharif - Zaid
C) Kharif — Zaid — Rabi
D) Kharif — Rabi — Zaid

The industry that is least dependent on location factors and can be set up in almost any
region is:

A) Heavy engineering industry

B) Agro-based industry

. C) Footloose industry

D) Mining industry

(61) (A) (16)
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76

77,

Choose the correct assumption(s) made by Weber in his Least Cost Location Theory.

I.  An area is completely uniform physically, politically, culturally, and
technologically,referred to as an isotropic plain.

II. Manufacturing involves a single product to be shipped to a single market whose
location is known.

1. Inputs involve raw materials from more than one known source location.
IV. Labour is infinitely available but immobile in location.

Options:
A) lonly
B) landIl

C) LI,andIIl
D) All ofthe above

The international organization that was transformed into the World Trade Organization
(WTO) on January 1, 1995 was:

A) United Nations (UN) ;

B) General Agreement on Tariffs and Trade (GATT)
C) International Monetary Fund (IMF)

D) World Bank

According to E.L. Ullman's theory of spatial interaction, which of the following is not
the basis of interaction:

A) Complementarity

B) Transferability

C) Intervening opportunity

D) Agglomeration economies

The fundamental law that serves as the theoretical foundation for the Gravity Model in
spatial flow analysis 1s:

A) Newton's Law of Universal Gravitation
B) Tobler's First Law of Geography

C) Weber's Law of Least Cost Location
D) Christaller's Central Place Theory

The Beta Index (B.1.) in network connectivity analysis is defined as:

A) The ratio of the number of nodes to the number of links in a network
B) The ratio of the number of links to the number of nodes in a network
C) The difference between the number of links and nodes in a network
D) The sum of links and nodes divided by the total possible connections

(61) (A) (17) [P.T.O.
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According to Rostow,the key stages of economic growth that a society progresses through

are:
A) Agricultural — Industrial — Service — Information Economy
B) Traditional Society — Preconditions for Take-off — Take-off — Drive to Maturity
— Age of High Mass Consumption
‘ C) Feudalism —» Capitalism — Socialism — Communism

D) Hunter-Gatherer — Agricultural — Urban —» Post-Industrial

79. The concept of "Growth Pole" was developed in 1955 by
A) Bouldeville
B) Francis Perroux
C) R.P.Misra
D) Walter Christaller

80. Inthe Core-Periphery Model, the region that is the focus of economic growth with an
urban nucleus is:
A) Semi-periphery
B) Periphery
€)' Core
D) Hinterland

81. The Command Area Development Programme in India was primarily launched to:
A) Increase groundwater extraction
B) Improve the utilization of irrigation potential
C) Promote urban housing near canals
D) Develop hydroelectric power projects

82. Which of the following is/are associated with Regional Planning and Development?
L  Rostow's Stages of Growth model
II.  GrowthPole Theory
III. Core-Periphery Model
IV. Malthusian theory
Choose the correct option :
A) lonly
B) IandIl
C) LILandII
D) All oftheabove

(61) (A) (18)
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The San (Bushmen) tribe is native to which part of the world?
A) Southeast Asia

B) Southern Africa

C) Central America

D) Eastern Europe

The proponent of the Rimland Theory in global geopolitics is:
A) A.T Mahan

B) H.J. Mackinder

C) N.I.Spykman

D) Karl Haushofer

Select the correct sequence that lists India's neighboring countries in ascending order of
the length of their shared border with India.

A) Bangladesh < China < Pakistan < Nepal < Myanmar < Bhutan < Afghanistan
B) Afghanistan < Bhutan < Myanmar < Nepal < Pakistan < China < Bangladesh
C) Afghanistan < Bhutan < Nepal < Myanmar < Pakistan < China < Bangladesh
D) Bhutan <Afghanistan < Myanmar < Nepal < Pakistan < Bangladesh < China

The Brundtland Commission Report is related to the concept of
A) Green Revolution

B) Sustainable Development

C) Human Development

D) Industrial Ecology

Study the following statements about the interior of the earth and select the correct
answer from the code given below:

I.  Temperature increases from the surface towards the earth's interior at the average
rate of 1°C for every 32 metre.

II. The outer most layer of the earth is largely composed of silica and aluminium.
. The core has a density of 10 to 12 g/cm’.

IV. Earthquake waves travel at a uniform speed in the earth's interior.

Options:

A) TandIl are correct

B) 1,1l and Il are correct

C) I, IIandIV are correct

D) IIL Illand 1V are correct

(61) (A) (19) [P.T.O.
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Similipal National park is situated in which State of India

A) Kerala
B) Madhya Pradesh
C) Odisha

D) West Bengal

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason(R ).

Assertion (A): The equatorial area at which the trade winds converge is known as Inter
Tropical Convergence Zone (ITCZ).

Reason (R):  The ITCZ usually lies at or near the meteorological equator (doldrums)
Select your answer from the codes given below:

A) Both (A)and (R) are true and (R) is correct explanation of (A).

B) Both (A) and (R) are true, but (R) is not correct explanation of (A).

C) (A)is true but (R) is false

D) (A)is false, but (R) is true

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason(R ).

Assertion (A): The sea water is more saline in tropical areas.

Reason (R):  Salinity of seawater is dependant on temperature and fresh water mixing
Select your answer from the codes given below:

A) Both (A)and (R) are true and (R) is correct explanation of (A).

B) Both (A)and (R) are true, but (R) is not correct explanation of (A).

C) (A)is true but (R) is false

D) (A)is false, but (R) is true

The Suez Canal connects:

A) North Sea-Caspian Sea

B) Baltic Sea-Mediterranean Sea
C) Baltic Sea- Gulf Sea

D) Mediterranean Sea-Red Sea

(61) (A) (20)
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Which of the following is a geo-synchronous satellite?

A) LANDSAT
B) IRS

C) METEOSAT
D) KITSAT

'"Pays' Concept is associated with:
‘A)  German School

B) Russian School

C) American School

D) French School

Delta Kames are the outcome of:
A)  Glacial Erosion

B) Wind Deposition

C) Glacial Deposition

D) River Deposition

Which is the largest physiographic division of India?
A)  Great Northern Plains

B) The Coastal Plains

C) Greater Himalayas

D) Great Indian Plateau

Which of the following States has the lowest percentage of scheduled tribes?
A)  Arunachal Pradesh

B) Manipur

C) Mizoram

D) Nagaland

(A) @1
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97. Match List-I with List-1I and select the correct answer using the codes given below:

List-1 List-11
(Rivers) (Their tributaries) .
1. Krishna i.  Chambal
2.  Brahmaputra il.  Indravati
3.  Godavari ii.  Tista
4.  Yamuna iv. ~ Bhima
Options:

A i @i i i
B e i et
C) i iy dilieid
B) i iv:

98. Match List-I with List-1I and select the correct answer using the codes given below:

List-1 List-11
(Tribes) (States)
1. - Bodo i.  Chbhattisgarh
2. Garo ii.  Jharkhand
3. Gond iii. Assam
4,  Santhal _ iv.  Meghalaya
Options:

[ -1 3y
A G i
BYe G 2 i
o) RS
Dt eiii. a0 K

99. Consider the following statements and select the correct answer using codes given below:
.  InaRepresentative Fraction (R.F.), the numerator is always one. |
II. InanR.F.Scale, the unit of denominator is always as of the unit of numerator.
II. R.F.isnot suitable technique of showing scale on a map.
IV. The statement scale, e.g.1 cm to 1 km is suitable scale on a map.
Codes:
A) L II and III is correct
B) LIII and IV is correct
C) ILII and IV is correct
D) LI and IV iscorrect

(61) (A) (22)



100. Which one of'the following is located in the Bastar region of India?
A) Dandeli Wildlife Sanctuary

B) Rajaji National Park

C) Bandhavgarh National Park

D) Indravati National Park

(60) (A) (23) [P.T.O.
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Match List-I with List-II and select the correct answer:

List - I (Hormone) List - II (Function)

1. Prolactin 1.  Controls the release of hormones
during childbirth

ii.  Oxytocin 2. Prompts the production of milk in

pregnant and nursing mothers

L

iii.  Thyroxin

Choose the correct option:
A) -1, 1i-2, 1ii-3, iv-4
B) i-2,ii-1,iii-3, iv-4
O i-1, 11-3, 1i-4, iv-2
D) i-2,ii-1, iii-4, iv-3

~_is the lowest part of the brain stem.
A) Pons
B) Cerebellum
C) Medulla Oblongata
D) All ofthe above

developed the first test of intelligence.
A)  William James
B) Alfred Binet
C) J.B. Watson
D) William McDougall

A patient with Broca’s aphasia shows which of the following symptoms?
A) Difficulty with fluency of speech

B)  Minor problems with repetition and naming

C) Comprehension of spoken and written language is intact

D) All ofthe above.

Match List-1 with List-11 and select the correct answer:
List - I List - 11

1. Wilhelm Wundt established Psychological 1. 1989
Laboratory at Leipzig University

ii.  William James published “Principles of Psychology”.

ad

1916

iii.  First psychological department at Calcutta University 3. . 1819

iv.  National Academy of Psychology (NAOP) India was 4. 1890
founded

Choose the correct option:

A) 1-2,1i-3, 1ii-1, iv-4

B) i-1,ii-2, iii-3, iv-4

C) -3, 114, iii-2, iv-1

D) i-4, ii-1, iii-3, iv-2

(69) (A) 3)

. Helps the liver break down glucose
iv. - Insulin 4. Influences the body’s metabolic rate
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6. A patient admitted to the hospital after a head injury was asked to describe a picture that
depicted a mother offering food to her son. The patient’s response was:
“Lady wants fo....food...food and... food wants to...a woman give ... boy.... boy

gives ..... wants to....lady... give...”
The Patient is suffering from
A) Stuttering

B) Wernicke’s Aphasia
C) Social Anxiety
D) Broca’s Aphasia

7.  Theassociation of Wolf Gang Kohler was with school of Psychology
A) Social
B) Gestalt

C) Humanistic
D) Educational

8.  Who among the following made experiments on Weber’s Law and sensory discrimination?
A) John Locke
B) Weber Gustav Fechner
C) David Hume
D) Helmhotz

9. Concurrent validity refers to...
A) Two tests were done at the same time
B) Items on the test consistently relate to each other
C) The scores on the test correlate highly with scores from the already existing test
that measures the same attribute
D) Two or more clinicians agree on the outcome

10. Consider the following statements about Functionalism
I.  Functionalism was strongly influenced by Darwin’s theory of ‘natural selection.’
II. The proponent of functionalism argued that since consciousness is a uniquely human
characteristic, it must serve an important function for us
IlI. Functionalists focused on understanding the functions of consciousness.
Select the correct answer from the options given below:

A) Onlyl

B) IandIl

C) LIlandIII
D) TandIN

11. The first department of Psychology was established in India under the headship of

A) Prof. Ganguli

B) Prof. N.N. Sengupta
C) Prof A.Gupta

D) Prof. A K. Shrivastava

(69) (A) )




12. Which of the following is true about the Action Potential (AP)?

A) The AP is conducted along the dendrite
B) TheAP is conducted faster in unmyelinated nerve cells
C) The AP is an all-or-none electrical event
D) The AP amplitude is higher for an intense signal
13. Which of the following is assessed by Cronbach’s alpha?
A) Interrater reliability
B) Internal consistency
C) Test-retest reliability
D) Concurrent validity
14. Which of the following statement(s) is/ are UNTRUE regarding cultural biLs in
psychometric testing?
I Itimpacts the validity and fairness of psychological assessments across diff¢rent

cultural groups

II. Psychometric tests designed in Western contexts can be applied to megsure
behavioral samples from other cultural backgrounds
IMI. Psychometric tests designed in another culture can lead to negative consequepces,
such as misdiagnosis, inappropriate interventions, and employment opportunities
for individuals from diverse backgrounds
IV. Itis crucial for psychometricians to consider cultural issues when designing and
interpreting psychometric assessments to ensure accuracy and fairness a&Eross
cultural groups
Options:
A) Tonly
B) Ilonly
C) Ilonly
D) None ofthe above
15. The early deficits of leads to cretinism or a type of mental slowness
A) Hormone
B) Thyroxine
C) Melatonin
D) Insulin
16. Match List-1 with List-2 and select the correct matches:
List-1 List-2
i.  Verbal Test 1. Use incomplete sentences, story wifiting,
ete.
ii.  Performance Test 2.  Employ items framed in sentences
iii.  Projective Test 3.  Consider responses and true reflectipn of
the underlying attribute
iv.  Objective Test 4. Requires displaying some behaviou.r In a
situation
Choose the correct option:
A)  i-1,1i-2, iii-3, iv-4
B) i-2,11-4, 111-1, iv-3
C) i-3,1i-2, iii-1, iv-4
D) i-1,ii-4, iii-2, iv-3
(69) (A) ) [R.T.0.




17.

18.

19.

20.

21.

The technique to study the subject’s brain wave, heart rate, and blood pressure is
called

A) Relaxation Technique

B) Biofeedback Technique

C) Physical Examination Technique
D) All ofthe above

A chemical substance that inhibits the effect normally produced by the neurotransmitter
at the receptor site is known as

A) Agonist
B) Antagonist
C) Endorphins

D) Acetylcholine

Which Indian psychologist wrote the first book on ‘cognition’?
A) Jadunath Sinha

B) Girishwar Mishra

C) Durganandh Sinha

D) N.N.Sen Gupta

What is the observed score (X) in Classical Test Theory composed of ?
A) Difficulty index and Discrimination index

B) True score and Error score

C) True score and Difficulty index

D) Error score and Discrimination index

Consider the following statements:

I.  The temporal lobe language region is Wernicke’s area

II.  The upper temporal lobe language region is known as Broca’s area

IIl. The lower frontal lobe language region is known as Wernicke’s area
IV. The language region in the lower frontal lobe is known as Broca’s area
Select the correct answer from the options given below:

A) LII,and III

B) TandIV
C) Il and III
D) Only IV

(69) (A) (6)




22. A test designed in one culture and administered to a different cultural group wi
adaptation is likely to have:

A)
B)
0
D)

23, A factor loading is:

A)
B)

O
D)

24. Which two phenomena in visual perception were discovered by Max Wertheimer?

A)
B)
0
D)

Increased validity

Reduced predictive validity
Lower construct validity
Increased face validity

A correlation coefficient between a variable and a factor (cluster or variableg

hout

).

The correlation between a binomial variable and a variable that has a continuous

distribution of scores.
The correlation of a variable

Empirically-based hypothetical variable consisting of items that are strd
associated with each other.

Optical illusion phenomena, phi phenomena

Binocular and monocular cues phenomena

Depth perception phenomena and retinal disparity phenomena
Size and color constancy phenomena

ngly

25. ‘Shadowing becomes more difficult when information is presented to both ears gt the

same time.” What does this statement imply?

A)

B)
0

D)

26. Stereotype threat in the context of psychometric testing is-

A)
B)
0)

D)

(69) (A)

Broadbent’s model of attention is accurate, where one information enters the pry
one at a time.

Attention does not occur as both ears receive information

Lack of understanding regarding the instructions, as both ears lose the abil
prioritize information.

Semantic information is being processed by ignoring other information

DCESS

ty to

The tendency for individuals to perform better on tests when they are aware of

negative stereotypes about their group
The tendency for individuals to perform better on tests when they are not aws
stereotypes about their group

re of

The tendency for individuals to feel anxious on tests when they are aware of negative

stereotypes about their group

The tendency for individuals to perform worse on tests when they are not awdre of

stereotypes about their group

) [P

T.O.




27. Deutsch and Deutsch’s (1963) Late Selection model utilizes  processing.
A) Serial processing
B) Parallel processing
C) Early processing

D) - Cascading processing

28. Binocular cues depend on:
L. Combination of the images in the left and the right retinas.
II. The way the two eyes work together.
II. Tmage in either the right or left eye.
IV. Difference between the images in the two eyes.

Codes:

A) LILandIV
B) LIILandIV
C) ILILandII

D) ILILand IV

29. Match the following:

List - I (Laws) List - II (Descriptions)

i.. . Weber’s Law 1.  Sensory on subjective magnitude grows in
proportion to the physical intensity of the
stimulus.

ii. Steven’s Power Law 2. The amount of change, increases/ decreases

in a stimulus necessary to detect it as
different, is proportional to the magnitude
of the stimulus.

iii. Fechner’s Law 3. The magnitude of a sensation is a

logarithmic function of the stimulus.
Codes:
U
Ay D) 3
By g iy
1.2 3
D) 2

(69) (A) (3




30. Rachel wants to know if she can learn Spanish by playing some language tapes whte she
sleeps. Her question concerns the general topic of and according to th¢ text,
the answer would likely be _

A)  Subliminal perception; positive
B) Signal detection; negative
C) Subliminal perception; negative
D) Signal detection: positive

31. According to Signal Detection Theory, which of the following processes is involyed in
sensory detection
. Sensory process
IL. Emotional process
Il. Motivational process
IV. Decision process

Codes:

A) TandIl
B) IllandIV
C) IlandllI
D) IandIV

32. The lens in the eyes is
A) A curved structure behind the pupil that bends rays, focusing them on the refina
B) A smooth structure in the back of the retina '
C) A curved structure behind the cornea
D) None of the above

33. Which ofthe following is based on the principles of operant conditioning?
A) Associative conditioning
B) Behavior modification
C) Systematic desensitization
D) Transfer of learning

34. Anaccused being harassed and tortured until he confesses to the crime is an example of
A) negative reinforcement
B) secondary reinforcement
C) primary reinforcement
D) positive punishment

(69) (A) ) [P.T.O.




35. Match List-1 with List-2 and select the correct matches:

List-1
i.  Pure musical tone
ii.  Wavelength
iii. Timbre
iv.  Decibels
Codes:

A) i1, ii-2, iii-3, iv-4
B) i-2,ii-3, iii-1, iv-4
C) i-3,ii-l, iii-4, iv-2
D) -4, ii-1, iii-2, iv-3

ol e

List-2

Distance between successive crests
Measure of loudness

Sine waves

The nature of a sound

36. Conditioning in which the onset of the Conditioned Stimulus (CS) precedes the onset of
the Unconditioned Stimulus (UCS) and the presentation of CS and UCS do not overlap is

termed as

A) backward conditioning

B) delayed conditioning

C) simultaneous conditioning
D) trace conditioning

37. Match the following:
List -1 (Memory Modules)
i.  Episodic memory

ii.  Semantic memory
iii.  Autobiographical memory

iv.  Procedural memory

Codes: ;

o & S O TR
A 3 4 1 2
B) 4 2 3 1
() A g 4 1
Dy 1 2 4 @ 3

38. Backward conditioning occurs when

List - I1 (Descriptions)

A memory that retains the information
about performing actions and skills
Memory for factual information that we
acquired at a specific time

A memory system that stores general
abstract knowledge about the world
Memory for information about events in
our own lives.

A) US and CS are presented simultaneously.

B) CSis presented first and US is presented before the termination of CS.
C) CSis presented first and US is presented after the termination of CS.
D) US is presented first and CS is presented after the termination of US.

(69) (A)
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39. According to the interference theory of forgetting,

A)

B)
9

D)

40. The aim of positive and negative reinforcement is-

A)
B)

0

D)

Memory capacity is limited, so when new information is brought in, older merpory
must be removed.

New learning can inhibit the retrieval of stored memory and vice versa.
Forgetting is directly related to the complexity and meaningfulness of the incotning
information.

Cues present at the time of learning interfere with memory retrieval.

To increase the likelihood that responses preceding both will be repeated.
To decrease the likelihood that responses preceding negative reinforcement will
be repeated.
To increase the likelihood that responses preceding only positive reinforcenjent
will be repeated.

To ensure that there are no negative consequences following the behavior.

41. Read each of the following two statements, Assertions (A) and Reason (R), and indjcate

your answer using the codes given below

Assertion (A): IQ test score increases have been continuous and approximately linear

from the earliest years of testing to the present.

Reason (R) : According to the Flynn effect, each successive generation of peopile is

more intelligent than the preceding one.

Codes:

A) Both A and R are true, and R is the correct explanation of A.

B) Both AandR are true, but R is not the correct explanation of A.
C) Aistrue, butR is false.

D) Aisfalse, but R is true.

42. Match the following:

List - I (Strategies) List - II (Concepts)
1. Heuristics 1. Step by step
ii.  Algorithm 2. Sudden occurrence
ili. Trial and Error 3. Rule ofthumb
iv.  Insight 4.  Multiple attempts
Codes:
st SRS NG
Avg o1 2eA
B2 4 d 3
O RN A W S
D)2 4 3 1
(69) (4) an [PL.O.




43. Which of the following is a characteristic of Chomsky’s Theory?
A)  The development of language occurs between 3 and 5 years of age.
B) Language development is dependent on the reinforcements received by the child.
C) Children acquire mistakes in language by observing their parents and others around
them.
D) Children have an innate universal grammar.

44. The five stages involved in creative thinking, according to the Realistic Mathematics
Education (RME) perspective, are

A)  Preparation; Orientation; [llumination; Incubation; Verification
B) Illumination; Preparation; Incubation; Orientation; Verification
C) Orientation; Preparation; Incubation; Illumination; Verification
D) Incubation; Preparation; Illumination; Orientation; Verification

45. “Development is the result of the individual’s active participation in the development
process in interaction with important environmental influences.” This is the assumption

of which of the following approaches?
A) Maturational/Biological

B) Psychodynamic/Physiological
C) Behavioral/Humanistic

D) Cognitive/Ecological

46. The twin studies’ results in relation to the development of intelligence indicate
A) Genetic factors are more important than environmental factors
B) Environmental factors are more important than genetic factors
C) Neither genetic nor environmental factors are important
D) Both genetic and environmental factors are important

47. Cattell’s Culture Fair Intelligence Test (CFIT) is presumed to measure
A) Crystallised intelligence
B) Fluid intelligence
C) Verbal fluency
D) Convergent thinking

48. The prototype in the context of concept formation is-
A) Mental representations
B) Deductive reasoning
C) Observational learning
D) Inductive strength

(69) (A) 12)



49,

50.

51.

52.

53.

A) Anima
B) Animus
C) Shadow
D) Persona
' Match the following:
List - I (Conflict) List - IT (Descriptions)
i.  Approach-approach 1. A goal simultaneously attractive
repulsive
ii.  Approach-avoidance 2.  Choosing the lesser of the two evils,
iii. Avoidance-avoidance 3.  Attracted and repelled by both choicg
iv.  Double approach-avoidance 4.  Two desirable goals
Codes:
(T | N L
A). & 4 T253
By 3 124
[ T i R e |
DY sl Tl r i3y

Basis of Heuristics is/are-

A) Past experiences

B) Breaking down the problem into smaller sub-problems
C) Follow the general rule of thumb

D) All of the above

Match the following:
List-I (Psychologist) List-IT (Descriptions)
i.  Rogers 1. Self-actualization
ii. Maslow 2.  Fully functioning
iii. Robert White 3.  Distinction in attribution
iv.  De Charms 4. Competence motivation
Codes:
1A
A 2 E o T
B-4" 312 1
£y, 120 8
bR T e |
Ifthe ‘lateral hypothalamus’ is activated electrically, it will immediately initiate |
A) Starving
B) Sleeping
C) Eating

D) All ofthe above

According to Jung, which of the following is the deepest and darkest part of the collgctive

unconditional and contains all of the animal instincts?

and

(69) (A) (13) [.T.O.




54.

55.

6.

57

S8.

59.

According to Erikson, adequate training, sufficient education, and good models during
the age range of'six to eleven years will lead to

A) initiative

B) identity

C) industriousness

D) autonomy

Cannon and Bard proposed that-

A) Inresponse to a particular stimulus, the cortex produces both the bodily changes as
well as emotions

B) Physiological arousal and subjective experience of emotions occur simultaneously
and independently of each other.

C) Emotional experience follows a physiological response to an external event, and
both are interconnected.

D) Both(A)and(B)

The oldest and most widely used projective test is
A) Rorschach Inkblot Test

B) Thematic Apperception Test

C) Both(A)and (B)

D) None ofthe above

Which theory assumes that an individual’s motivation is proportional to the increased or
decreased levels of arousal in activities?

A)  Arousal theory

B) Opponent-process theory

C) Biorhythm theory

D) All ofthe above

According to Lazarus, a potential stressor will produce stress, depending on the mental
process involving

A) Coping and fear responses

B) Appraisal of stressor and coping

C) Sympathetic activation and fear

D) Degree of fear and physiological responses

Rogers used the Q-sort technique to identify

A) Convergence in the internal and external frame of reference

B) Congruence inreal and ideal self

C) Conditional and unconditional positive regard

D) Understanding the effectiveness of the therapeutic process on the self

(69) (A) (14)
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60. Arrange the following theories of emotions in chronological order (from earlier to laj

I.  Cannon-Bard

I.  Schachter-Singer
. James-Lange

IV. Lindsley
Codes:

A LI, 1L IV
B) I I, IV, II

€y 1L LIV, 1

Dy IV IELIE

61. Match the following:

List - 1 (Approach to study motivation) List - II (Descriptions)
i.  Behavioral 1. Interpersonal relations with the
community
ii.  Humanistic 2. Incentives, rewards, and punishmg¢nt
iii. Cognitive 3.  Actualizing needs
iv.  Socio-cultural 4. Behavior is determined by oyr
thinking and attributions
Codes:
[ S 1§ B \%
A 2 3 4 1
By 3 "2 4 1
€y 1 3 4 3
Dy ¥ 3" 2 4
62. Which of the following statements by Alfred Adler is correct?
A)  Social factors and birth order have an important role in personality.
B) Too much pampering or neglect spoils children
C) None of'the above
D) Both(A)and(B)
63. The psychodynamic perspective emphasizes the role of
A) cognitive processes in decision making
B) tendencies towards personal growth
C) internal forces and conflicts
D) cultural factors on various aspects of behaviour
(69) (A) @as) [PTO.
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64. In this question, two statements labelled as Assertion (A) and Reason (R) are given.
In the context of the two statements, which one of the following is correct?

Assertion (A) : Whether emotions have evolved out of physiological motives or have
originated in some other way, it is clear that they have a motivational significance.

Reason (R) : Motivational theory suggests that motives may be characterised as
anticipatory goal reactions based upon prior associations of pleasure or pain.

Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A

Codes:

A)

B)

C) Aistrue, butR is false
D) Aisfalse, but R is true

65. Solomon Asch’s classic experiment was arranged to test the limits of

A)
B)
C)
D)

Obedience
Indoctrination
Coercive power
Conformity

66. Match the following:

111

List - I (Concept)
Animus

Anima

Collective Unconsciousness

iv. Extroverts
Codes:

i 1 I W
A 2 4 1 3
B)L 30 & 1 4
C) 4 i 158 2
D23 4 1

(69) (A)

(16)

List - II (Explanation)

A portion of the unconsciousness shared
by all human beings

The archetype representing the masculine
side of females

Open and confident individuals who make
friends readily

The archetype representing the feminine
side of males




67.

68.

69.

70.

71.

(69) (A) 17) [P)

Social facilitation phenomenon is an increase in dominant responses in the presefce of

others of the same species, leading to

A)  Improved performance on both well-learned/easy tasks and poorly learned/difficult

tasks

B) Improved performance on well-learned/ easy tasks and deterioration in perforthance

on poorly learned/difficult tasks.

C) Deterioration in performance on well-learned/easy tasks and improved performance

on poorly learned/ difficult tasks.

D) Deterioration in performance on both well-learned/easy tasks and pporly

learned/difficult tasks.

Obsessions and compulsions are distinguished as
A) Engaging in behaviors that are merely inconvenient and those that are sey
disruptive.

B) Having positive and negative feelings towards an object or event.

C) Thoughts that are evidence of neurosis or those that are evidence of psychogi

D) Having repetitive intrusive thoughts or engaging in repetitive actions.

DSM-5 replaces somatoform disorders with

A)  Somatic symptoms and related disorders
B) Somatization disorder

C) Health anxiety disorder

D) Body-somatic disorder

Evolutionary social psychology research seeks to investigate
A) changes in human behavior

B) the potential role of genetic, cultural, and psychological factors on social bel:pior.

C) the interrelationships between people of two groups of different social gro
different social environments.

D) focuses on an individual’s behaviors.

Which among the following is not a positive symptom of schizophrenia?
A) Delusion

B) Avolition

C) Disorganized thinking and speech

D) Hallucination

erely
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72.

73.

74.

75.

76.

17

The main focus of Cognitive Behaviour Therapy is

A) Understand repressed memories

B) Treat traumatic brain injury

C) Identify problematic ways of thinking

D) Identifying underlying genetic predispositions to mental illness

Physically attractive people tend to be rated more highly on traits such as intelligence
and honesty is a psychological phenomenon known as

A) Social magnetism

B) Role modelling

C) Social comparison

D) The halo effect

Causes of psychological disorders, as per the somatogenic hypothesis, advocate

A) Analysis of dreams and physiology

B) Association of psychological disorders and physical or biological impairments
C) Traumatic life events and brain assessment

D) Family dynamics and psychosomatic illness.

developed rational Emotive Behavior Therapy.
A) Carl Rogers
B) AronBeck
C) Sigmund Freud
D) AlbertEllis

The theory of causal attribution has been proposed by
A) Harold Kelley

B) Keith E Davis

C) EdwardE Jones

D) KurfLewin

The technique of systematic desensitization is used in
A) Psychodynamic therapy

B) Behavior therapy

C) Cognitive behavior therapy

D) Rationale emotive therapies

(69) (A) (18)




78. Which among the following are not effective techniques in obsessive ruminations?

A) Exposure and response prevention
B) Free association
C) Thought stopping
D) Desensitization
79. Match the following:
List - I (Theory) List - IT (Scholars)
i.  Interpersonal Deception Theory 1. Zajonc
ii.  Bystander intervention 2.  Buller and Burgn
iii. The notion of social facilitation 3. Berkowitz
iv.  Frustration-Aggression hypothesis 4. Darley and Latane
Codes:
i, R
MY e G
B)--d =3 -0
G 78R SR SRR SN
DY+ 3 Sl g i

80. Aryanis watching a horse race. He knows that his dog at home has four legs, a tail, gnd

fur. When he sees the horses, he shouts out “Doggies”. Aryan is demonstrating
A) Assimilation
B) Accommodation
C) Conservation
- D) Irreversibility
81. Which one of the following is the correct order of the three stages of human prenTtal

development?

A)
B)
C)
D)

Germinal, Embryonic, Fetal

Differentiation, Implantation, Strengthening
Embryonic, Germinal, Fetal

Placental, Umbilical, Embryonic

82. Which of'the following was a significant factor in determining the degree of obedietce

in Milgram’s series of experiments?

A)

B)
©)

D)

(69) (A)

Presence of legitimate authority (experimenter) and proximity of the participaht

(teacher)

Gender of the authority figure (experimenter)
Intensity of punishment given by the authority (experimenter) and complaining
shouting, and crying by the learner.

The closed setting in which the experiment was conducted.

(19) [P.T.

D.




83.

84.

85.

86.

87.

Rani’s parents often include her in decisions such as food preferences, houschold chores.
Once a decision is made, the rules are enforced. Rani’s parents are using

parenting style.

A) Authoritative

B) Authoritarian

C) Permissive

D) Uninvolved

Dev thinks he should obey his teachers only if they are carefully watching him. Kohlberg
would suggest that Dev demonstrates morality.

A) Conventional

B) Unconventional

C) Preconventional
D) Postconventional

Fundamental attribution error refers to

A)  Underestimate the role of dispositional factors in explaining behavior.

B) Overestimate the role of situational factors in explaining the behavior.

C) Underestimate the role of both situational and dispositional factors in explaining
behavior.

D) Overestimate the role of dispositional factors in explaining behavior.

According to Vygotsky, are private speech and inner speech related?

A) Private speech and inner speech are two different concepts.

B) With maturity, children’s private speech develops into inner speech.
C) Innerspeech develops first, followed by private speech.

D) Both private speech and inner speech are the same concept.

A boss who never gives the benefit of the doubt. When the employee is late, he assumes
that he is simply too lazy to get up on time and reach the office on time. The boss never

considers that, despite leaving the house well before time, there was too much traffic on
the road. The boss is guilty of

A)  Self-serving bias
B) Selective perception
C) Fundamental attribution error

D) Inconsistency

(69) (A) (20)




88. Which of the following relationships does the Expectancy theory propose for motivatjon?

A)
B)
Y
D)

Reward-satisfaction relationship
Satisfaction-performance relationship
Reward-personal goals relationship

Error-satisfaction relationship

89. Sequentially arrange the stages of language development.

I.  Semantic development.

I.  Production of meaningful speech.
IMI. Phonological development.

IV. Grammar/Syntax.

Codes:

Ay 1, IV -1

B) L IV, I II

C) I LI,Iv

D) L I IV, II

90. Identify the leadership theories given below:

A)
B)
O
D)

Trait theory
Behavior theory
Contingency theory

_All of the above

91. Which of the following are the physiological reactions to stress?

I.  Heightened state of arousal.
I.  Slow breathing.

IMI. Sweating.

IV. Increased heart rate.
Codes:

A) 1l and IV

B) LI and IV

C) LI, and IV

D) I III, and IV

(69) (A)
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92. Match the following:

List - I (Stress management technique) List - 11 (Benefit)
i.  Biofeedback therapy 1. Control physiological response
ii.  Music Therapy 2 Improve mood and increase energy
level
iii. Breathing exercise 2 Decreased muscle tension
iv.  Progressive Muscular Relaxation 4. Manages parasympathetic tone
Codes:
i v i
Ay 3 4 2. 1
By 2 1 3 -4
Sl 2 4 3
By 4 W 3 2

93. What are the factors responsible for understanding an employee’s behavior?

A)
B)
C)

D)

The environment plays the most important role in understanding individual employee
behavior.

It is important to note both the environment and individual differences in
understanding individual employee behavior.

Neither the environment nor individual differences are important in understanding
employee behavior.

Employee’s personality and attitudes are primarily dictated by the environment.

94. The acronym PERMA stands for

A)
B)
©)
D)

Positive Emotion, Engagement, Relationship, Meaning, Accomplishment
Positive Emotion, Engagement, Resilience, Meaning, Accomplishment
Permanent Engagement, Resilience, Meaning, Accomplishment

Positive Emotion, Excitement, Resilience, Meaning, Accomplishment

95. Who developed the equity theory of motivation?

A)
B)
0
D)

Porter Lawler
Mc Clelland
Stacy Adams
Vroom

96. How are positive psychological characteristics and longevity related?

A)
B)

0

D)

(69) (A)

People who are basically happy and content live longer.

High levels of optimism and a sense of coherence are correlated with a healthy
lifestyle.

People with positive characteristics have a greater amount of social support, which
is associated with good health. _
Sense of well-being is associated with less bodily tension and better sleep quality.

(22)




97. Homeostasis is a term used to describe

A)
B)
0
D)

98. According to Sternberg, intelligence is:

Lateral inhibition in neural networks

The opponent-process theory of motivation
Autonomic nervous system arousal
Balance in the physiological system

A) Made up of three different independent intelligences
B) A single, general underlying ability
C) Made up of eight or more independent mental abilities
D) A single, specific ability which cannot be measured by traditional intelligen¢e
test
99. According to Seligman, positive emotions about the present as “pleasures? and
“gratifications” can be increased by
I.  Forgiveness and overthinking
II.  Counter automatic pessimistic thoughts
[II.  Applying the strength in daily life
IV. Exercising strengths and virtues
Codes:
A) All ofthe above
B) ILIILIV only
C) IMandIV
D) None ofthe above
100. Functions of management are part of the classical approach, given by
A) Max Weber
B) Henri Fayol
C) Frederick Taylor
D) Elton Mayo
(69) (A) (23) [PJI.O.
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